UGC NET 2022 MANAGEMENT

Topic:- 17_PARTA_S1

1) Which one of the following factors is not & factor in case of wide span of management?

FAteATas R § H F -5 FF TEGT F SF N F 0 5 A A6 27
[Question ID = 201][Question Description = 101_17_Management_SEPT22_Q01]
. Fast changes in external and internal environment

TET v ANE SEE § Al g
[Option ID = 801]
2. Well-defined plans for repetitive operations
T AT Tl & e e e aree
[Option ID = 802]
3. Effective interaction between superior and subordinate
[Option ID = 803]
4. Thorough training of subordinate
[Option ID = 804]

2) ‘Which one of the following principles of management states that for a sroup of activity
having the same objective. there should be one head and one plan?

TEeA * fetEhgy fgE § 9 s uw aiamics 2 5 niEtats = v age teee 5em S5 A, 9w o
ST A EH1 = ¢

[Question ID = 202][Question Description = 102_17_Management_SEPT22_Q02]
1. Unity of commiand

[Option ID = 805]
2. Division of work

[Option ID = 806]
3. Unity of direction

[Option ID = 807]
4 Centralization

-

FEm

[Option ID = 808]



3)  In which of the following situation(s). a competitive firm 1s advised to shut down operations
temporarily?

FrefieinEs /O T U § Weadl B R AR BT W Tk 5T S ) A6l Y

[Question ID = 203][Question Description = 103_17_Management_SEPT22_Q03]

1. P=AVC

[Option ID = 809]
2. P< ATC

[Option ID = 810]
3. P=N0IC

[Option ID = 811]
4 P<MR
[Option ID = 812]

4) Percentage of output lost for each one point reduction in the inflation rate 1s called

AN T Gt i e e e | el 0 e 2 e e e e o T e 2 e ot e e s
[Question ID = 204][Question Description = 104_17_Management_SEPT22_Q04]
. Input and output ratio
R G EEE s ClE

[Option ID = 813]

2. Capital-output ratio

TSI~ IR S
[Option ID = 814]
3. Bacrifice ratio

[Option ID = 815]
4. Technological guotient

[Option ID = 816]
5) Which one of the following is a taxable perquisite?

FefefEa @ FH-H TF F-AE e g 8|
[Question ID = 205][Question Description = 105_17_Management_SEPT22_QO05]
1. Insurance premium
= Tt
[Option ID = 817]
2. Salary of servant emploved by an emploves

fe] =] G AT A ) =9

[Option ID = 818]
3. Loan to employees

F il s el



[Option ID = 819]
4. Aceommodation provided by the emplover

[Option ID = 820]

6) Which one of the following 1= the characteristic of organizational climate?

T=eTiEA | | T T SS AT 90E9 S e 2
[Question ID = 206][Question Description = 106_17_Management_SEPT22_Q06]
Thers are policies that set forth the organization's beliefs about how emplovees
and/or customers ave to be treated
Tq TEE F T HAiieal 2 T = TeA % e F aw sl @ R R e
ST ITHEAE F WY 0 T # aaE e =

1.

[Option ID = 821]
2. Btandards of behaviour exast
SEE T HAE Al 3 w2

[Option ID = 822]
When organizational participants interact with one aneother. thev use common

language
& WEATTF TEAT Tl 5= 0 0eE B, 99 3 O et 5 9 H O Fed B

[Option ID = 823]
This is an overall “feeling" that is conveyved by the physical layout and the way
participants interact
TEl TF HAY E0 % HEE w0 A 6 bies AiEsE i @ENiT 6 Herste A = ot il

4.

[Option ID = 824]

3]

7 : ; y el x
) Which one of the following 1= orgamzational process related job stress?

FreAletEa A ATEAEE A § Heiad e g 2
[Question ID = 207][Question Description = 107_17_Management_SEPT22_Q07]
1. Little performance feed back

[Option ID = 825]

2. Role ambiguity

[Option ID = 826]
3. No opportunity for advancement

[Option ID = 827]
4. Rotating work shifts

AT T A

[Option ID = 828]



8) Which one of the following is not a characteristic of a manager?
a5 F FA-H1 T T 6 e a6 R

[Question ID = 208][Question Description = 108_17_Management_SEPT22_Q08]
1. Dges the right thing

-'q—;% ?ﬂl":lr E G| :’rﬂi
[Option ID = 829]
2. TImitates
[Option ID = 830]
3. Asks how and when
[Option ID = 831]
4. Accepts the status quo

[Option ID = 832]

) According to the Economic Times study. which one of the following 1s India’s best company to
work for in 20217
TREEF 258 F A9 S9H0 - 91 2021 B FE FH F W0 96a S 9= B FeenEd 5 39
[Question ID = 209][Question Description = 109_17_Management_SEPT22_Q09]
! Blue Dart Express Limited

& ST¢ T faihes

[Option ID = 833]
2. DHI Express India Private Limited

[Option ID = 834]
3. NTPC Limited

v A0 H s

[Option ID = 835]
4 Nlax Life Insurance Company Limited

HFITSF TUAne HUA TS
[Option ID = 836]

10)  Which one of the following 1= the meost significant factor according to the Dunlop Model of
Industrial Relation?

SRR T5H) *F =479 S5 % SAEN MEEngd 3 9 HE -H1 SEi S 0% 2 7

[Question ID = 210][Question Description = 110_17_Management_SEPT22_Q10]
1. External forces

=7 wed



[Option ID = 837]
2. Nanagement

TEEA
[Option ID = 838]
3. Labour

am

[Option ID = 839]
4. Government

IME

[Option ID = 840]

") Which one of the following 1s not an intramural function of trade unions?

F=AletiEs | FH-91 =9 91 73 (FFE9) F U A T w5 A

[Question ID = 211][Question Description = 111_17_Management_SEPT22_Q11]
1. Hike inwages

FAgl A AR

[Option ID = 841]
2. Extenzion of medical facilities during sickness and easualties

SO FHT SPFETEAIA 6 S0 SR R # A

[Option ID = 842]
3. Job security

AT () T

[Option ID = 843]
4. Providing more benefits

e =) 1 9eEg Tl

[Option ID = 844]

12) Which one of the following is a disadvantage of MBO as a performance appraisal tool?
T HeATE 2 % w0 H U S A e

[Question ID = 212][Question Description = 112_17_Management_SEPT22_Q12]
- Difficult to develop

lEgatalcze et

[Option ID = 845]
2. Time-consuming

ST SF T & Je

[Option ID = 846]
3. Difficult to rate or rank enmiployees relative to one another

TFE-EF o U T FOERE] A 9 T e 1

[Option ID = 847]
4. (Can cause disagreements among employvees



FIFITET | SEEA 5 H0 = ST &

[Option ID = 848]

13 . . o .
) Marston company sells a single product at a price of Rs.530 per umt. 1is fixed costs total

Rs.15.000 and wvariable costs amount to Rs.20 per unit. If management reduces the sales
price of this product by Rs. 5 per unit. the sales volume needed for the company to break
even will:

AN T TR TR 3R RS0 U O i s=e 21 3 39 R wE 15,000 T R s
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[Question ID = 213][Question Description = 113_17_Management_SEPT22_Q13]
1. Increase by Rs. 5.000
5,000 =0 i1 Fi3

[Option ID = 849]
2. Increase by Ra. 4.500

4,500 = Fi 33

[Option ID = 850]
3. TImerease by Rs. 2.000

2,000 77 #1 giz

[Option ID = 851]
4. Remain unchanged

[Option ID = 852]

14)  Nobel Laureate (2013) Robert Shiller advocates price earning ratic based on:
T HET (2013) e e TR W sreiiE e S SR o A e 2

[Question ID = 214][Question Description = 114_17_Management_SEPT22_Q14]

1. Trailing twelve months earnings

oo 12 784 1 54
[Option ID = 853]
Latest four quarters earnings

[Option ID = 854]
3. Analvets forward earnings forecast

[Option ID = 855]
4. Cyelically adjusted 10 vears’ earnings
Al =9 | GEEIAE 10 391 i 9=

[Option ID = 856]



15) The traditional aceounting practice of resolving uncertainty by choosing the solution that
leads to the lower amount of income heing recognized in the current accounting period 1=
based on which of the following accounting principles?

TAHH A AATE ° 9w Al S 0 OB T F AT H 99 ST A w6
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[Question ID = 215][Question Description = 115_17_Management_SEPT22_Q15]

1. Realization
e
[Option ID = 857]
2. AMatching

[Option ID = 858]
3 Conservatizm
R

=
i

[Option ID = 859]
4 Materiality

.'11' T
[Option ID = 860]

16) If a company’s current ratio declined in a year during which its quick ratio improved. which
of the following 1s the most likely explanation?

afs TRl O ) FAEE AT TR g9 % S e 2| SH 99 § 56w oA 3 @an ae w2, 99
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[Question ID = 216][Question Description = 116_17_Management_SEPT22_Q16]
K Inventory is Increasing

e (HFg) 95 T 2

[Option ID = 861]
2. Inventory is declining

gl (TFeg) 2 T 2

[Option ID = 862]
3. Receivables are being collected more rapidly than in the past

T T T SR AT 3 A 2§ wmiea e g
[Option ID = 863]
4. Receivables are being collected more slowly than in the past
T TS T HEA S AT A S w0 St il A |
[Option ID = 864]
17) Earnines per share of a company 1s Rs.5 and the rate of return required by its shareholders

1s 16 per cent. Assuming Gordon valuation model. what rate of return should be earned on
investment to ensure that the market price of its shave 1= R.50 and the dividend pay out 15

40 per cent?
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[Question ID = 217][Question Description = 117_17_Management_SEPT22_Q17]
1.

200 per cent

20% o

[Option ID = 865]
2. 16.67 per cent

16.67% F1 3

[Option ID = 866]
3. 33.33 percent

33.33% i oF

[Option ID = 867]
4. 25 per cent

255y i
[Option ID = 868]

18) In which of the following methods of capital budgeting. cash flows are reinvested at the cost
of capital?
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[Question ID = 218][Question Description = 118_17_Management_SEPT22_Q18]
1. Internal rate of return (IRR)
Tiawe Fi AAE T (1 AT W)
[Option ID = 869]
2. Net Present Value (NPV)
= 399 gea (vA 1 )

[Option ID = 870]
3. Pavback period

[Option ID = 871]
4. Accounting rate of return (ARR)

e 1 A 5 (7 W )
[Option ID = 872]

19) Which of the following i1s a pre-offer takeover defence emploved by target companies in

hostile takeovers?
FefetEs 8 7 FH-TF Uarpe (FreEd) SO 0 oiem A gel S w9 5 U E-me
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[Question ID = 219][Question Description = 119_17_Management_SEPT22_Q19]
1. (Green mail



[Option ID = 873]

2. Pacman defence
[Option ID = 874]
3. Poison pills
e By

[Option ID = 875]
4. Liahility restructuring

T e ()

[Option ID = 876]
20) In the absence of tran=zactions costs, if a stock plots above the security market line (SML), it
is !

Tz ST 1 A 5, i v i SiaHE s Ui (T U ) F 9 A 9 a8 7% 7 e -

[Question ID = 220][Question Description = 120_17_Management_SEPT22_Q20]
- Overpriced

g

[Option ID = 877]

2. TUnderpriced

[Option ID = 878]

3. Fairly priced

I w9 H g

[Option ID = 879]

4.  Efficiently priced

Pyl o e
T (SRR Hra

[Option ID = 880]

21)  Retailer cooperatives belong to which of the following distmbution channel systems?

GE AR B A | -H e g T 3 geiad 2 v

[Question ID = 221][Question Description = 121_17_Management_SEPT22_Q21]
1. Contractual

et s

HIFEPT

[Option ID = 881]
2. Administered

~

TEITHE

[Option ID = 882]
3. Horizontal



[Option ID = 883]
Corporate
F17E

[Option ID = 884]
22) Which of the following is the correct explanation of resource-based approach?

FAtETEs § #iE-H GarE— 19T 390 i J6 = B

[Question ID = 222][Question Description = 122_17_Management_SEPT22_Q22]
Internal sources are more important for a firm than internal forces for competitive
advantage

1.

[Option ID = 885]
2. Process whereby a firm determines the costs associated with organizational activities

TR AT THEE UF ] SE2ATEE TAEa | WEiad Sl 6 e w1 8

[Option ID = 886]
3. External factors are more important than internal factors for competitive advantaze

ST 1 5 T ATl HH A S e A e w6 R

[Option ID = 887]
Effective integration of both external and internal factors is the kev to competitive

advantage
AT 7 WS FH T TR Taea iy o _?‘ﬁél
[Option ID = 888]

23) A copier machine company provides better after sales service to its existing customer to
1mprove its (company) and product image and increase sales of acceszories and consumables.
Above given statement is an example of :

o F FIE T AT A A F S0 (R S SR TN gaTE 20 TEEE ST uw
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[Question ID = 223][Question Description = 123_17_Management_SEPT22_Q23]
1. Stability strategy aimed af customer functions
UTEF FWYE W A feara T
[Option ID = 889]
2. Stability stratesy aimed at customer sroups
UTEE T W SR [ e

[Option ID = 890]
3. Expansion strategy aimed at customer groups

TE TE W AT e T 5

[Option ID = 891]



4. Expansion strategy ammed at customer functions

[Option ID = 892]
24) Concept of fit' 1= central to which of the following schools of thought on strategy formulation?

TUHTT B T s T e (TR ) § TR T e TaE 2

[Question ID = 224][Question Description = 124_17_Management_SEPT22_Q24]

- The positioning school

[Option ID = 893]

2. The cognitive school
[Option ID = 894]

3. The planning school

[Option ID = 895]
4. The design school

[Option ID = 896]

25) How often and how easilv customers think of the brand under wvarious purchase or
consumption situations. is known as:

o [ wiE =37 30an Bedl REaa § el wR S e A O |s $ 80§ J94 B, 58
[Question ID = 225][Question Description = 125_17_Management_SEPT22_Q25]
1. brand sahence

[Option ID = 897]
brand resonance

[Option ID = 898]
3. brand feehnes

WS F W
[Option ID = 899]
4. brand imagerv

EIEE e

[Option ID = 900]

26) Huge stores that combine supermarket, discount and warehouse retailing are called:



[Question ID = 226][Question Description = 126_17_Management_SEPT22_Q26]

- Discount store

Tz TEE (fsEEs =)
[Option ID = 901]
Category killer
itz (Fem) em
[Option ID = 902]
Hyper market
[Option ID = 903]
4. Off-price retailer
FFA-FEA (SE-E) EE

[Option ID = 904]

27)  Gentral focus of which of the following models 1s five-staze consumer decislon process?
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[Question ID = 227][Question Description = 127_17_Management_SEPT22_Q27]
1. Nicosia Model

AT Oiee

[Option ID = 905]
2. Hovard-Sheth Model

[Option ID = 906]
3. Engel-Kollat Blackwell madel

TS ~IeE SR HiseT
[Option ID = 907]
4. Bheth-Newman-Gross Model
TE-=HA-TE H=

[Option ID = 908]

28) A salesperson who relies on ereative methods for selling products and services iz called:

[Question ID = 228][Question Description = 128_17_Management_SEPT22_Q28]
1. Demand ecreator

[Option ID = 909]
2. NHssionary



& s

[Option ID = 910]
3. Solution vendor

TETE EEET

[Option ID = 911]

© Dehverer
T

[Option ID = 912]

4

29) Customers arrive at a reception counter at an average mterval rate of 10 minutes and the
receptionist takes an average of 6 minutes for one customer. The average queue length 1s:

Al =T F132 W I 10 T2 1 AT AN 5 0 A B AR = T, T 3THE 6
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[Question ID = 229][Question Description = 129_17_Management_SEPT22_Q29]
" 310
[Option ID = 913]
2. 910

[Option ID = 914]
3. 11710

[Option ID = 915]
4 7110

[Option ID = 916]

30 ; 2 . . A
) Which of the following 1= not an advantage of inplementing a guality syztem that conform to

IS0 standards?
FeteEs § F - R TH T OO R S S A 7 A A U A JEE R e
it

[Question ID = 230][Question Description = 130_17_Management_SEPT22_Q30]
1. Improvement in emplovee involvement

FATE Herar § gav
[Option ID = 917]

© Improvement in house keeping
[ m':;rqrq.l ﬁ _-F_I,‘EI'W

[Option ID = 918]
3. Improvement in-customer satisfaction

U W] B O

[Option ID = 919]
4. TInefficient decision making

[Option ID = 920]

31) A technigque of building up a list or a sample of a special population hy using an initial set of
members as mformants is called:
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[Question ID = 231][Question Description = 131_17_Management_SEPT22_Q31]

1 Quota sampling

H'EI?'J ‘JFIH_ F;-ﬂ'.r |

[Option ID = 921]
2. (Convenience sampling

[Option ID = 922]
3. Bnowhall sampling

=T e FE

[Option ID = 923]
Purposive sampling

HrETd A5 TE
[Option ID = 924]
32) Which of the following is true for the coefficient of correlation?
TR WY T o A Heeigd § J BE-A wE A

[Question ID = 232][Question Description = 132_17_Management_SEPT22_Q32]
1. It i not dependent on the change of scale

[Option ID = 925]
2. Itiz not dependent on the change of origin

B GO e R | L e B DO b L o i o B

[Option ID = 926]
3. TIi iz not dependent on both the change of scale and change of origin

TE UM F 9iEAd A0 39 F 9iEe 9 9 95 B

[Option ID = 927]
4. Tt 1z dependent upon change of scale, but not dependent upon change of origin

[Option ID = 928]

33)

n

Which one of the following 1s not the disadvantaze of international licensing?”

T § 9 R -E G SR ET TR A R 7

[Question ID = 233][Question Description = 133_17_Management_SEPT22_Q33]
1. Invitinga potential competitor in third country inarkets

T 59 =91 & ST9F ° 59 TaeaH F AEEE

[Option ID = 929]



2. High azency costs

[Option ID = 930]
3. Possible loss of guality control

TOTET FEA FT FEs A

[Option ID = 931]
4. No detailed involvement with foreign customers

[Option ID = 932]

34) Which one of the following 1= not the assumption of Theory of Absolute and Comparative
advantage”

Tretetias | & A= qu 10 GerienE A g i EaEn 485 8

[Question ID = 234][Questi_on Description = 134_17_Management_SEPT22_Q34]

Countries are driven only by maxnnization of production and consumption
BT IEAEA W @A F A GEan e S 5 A 0 76 2
[Option ID = 933]
2. Qnly two countries are engaged in the production and eonsumption of just two goods
w3 T 59 FAE A Tl IR 5 T | 7 T A

[Option ID = 934]
- There are transportation costs for shipping goods from one country to another

w

TF 537 § 55 o9 7 ] F o JH o o Gi"s 5 =6 A

[Option ID = 935]
Lahbour 1s the only factor of production that helps in converting the raw materials into

finished products

HH, S w1 THEE H0E 2 A F= 0iE 540 300 § "o § 95 A 2

[Option ID = 936]

L]

35)  Which one of the following factor does not influence the flow of FDI under Demand factors®
Tt § O S0 FF T Oad] F F a0 e 19590 FEe F TaE o T9iEs T5 e 27

[Question ID = 235][Question Description = 135_17_Management_SEPT22_Q35]
1. Customer access

[Option ID = 937]
2. Follow rivals

[Option ID = 938]



3. Resource availability

[Option ID = 939]
4. Exploitation of competitive advantage

[Option ID = 940]

36) Whach of the following constitutes Foreign Direct Investment?
FetenEs 3 9 FH9E 99y Eeel Ham et

[Question ID = 236][Question Description = 136_17_Management_SEPT22_Q36]
1. A zpeculator fiving to make a profit by buying company shares on a foreign stock
exchange

i~

TSl 2 UHEAEE ° U] F 9 EET W S T B O SeeTs o T

[Option ID = 941]

2. Indian energy company buying ferritory abroad where it expects to find oil reserve
GRARE T FAT (552 § TH) 5 Wi wh 36 a9 10 0 e R I39E

[Option ID = 942]
3. A tourist purchasing foreign curiency to spend on a holiday abroad
R Tl e 8 e i3 B 1 e o - Gl e R i)

[Option ID = 943]
A company signing an agreement with a wholesaler to distribute itz products in
forelgn markets

ot Tt =1 fael =om 1@ w s e & e F o a T & e = e

[Option ID = 944]

37 . . . . . , .
) Diffusion of innovation theory 13 associafed with:

FarET ogE O S0E WY TeE -

[Question ID = 237][Question Description = 137_17_Management_SEPT22_Q37]

" Peter Drucker

:In &l 3 ET

[Option ID = 945]
Schumpeter

s

T
[Option ID = 946]
Everett Rogers
[Option ID = 947]

4. Fredrick Tavlor

[Option ID = 948]



38)  Currently. the country with the highest level of entrepreneurial Activity. represented by
Global Entrepreneurship Index is -

r = S i = = =, r % e
FaaH 1 dfvaF i g G0 WAl J9r T & SgHE FEEe 9 99 |

[Question ID = 238][Question Description = 138_17_Management_SEPT22_Q38]

1. Korea
-
[Option ID = 949]
2. Norway
EIC]

[Option ID = 950]

- us
7 H
[Option ID = 951]
4. Aystralia

[Option ID = 952]

39)  The first and foremost important feature for a project to be successful is:

[Question ID = 239][Question Description = 139_17_Management_SEPT22_Q39]
1. 1t should have a legal support

[Option ID = 953]
2. Tt should have adeguate financing

[Option ID = 954]
3. It should have a market

[Option ID = 955]
4. It should benefit society

[Option ID = 956]

40) Which scheme on performance and credit rating has been launched by Union MSME
Ministry to assess the eredit worthiness and eapabilities of industries in the sector?

% B B B 1 e 2 2 e 1= ) 11 e e 20 o Ll 0 e o B 1 el o B e = B ) B o
U UH UH S e GE SR i MET

[Question ID = 240][Question Description = 140_17_Management_SEPT22_Q40]



Zero Defect Scheme

[Option ID = 957]

Certification Performance and Economy Rating Scheme

TSR e v TR e g
[Option ID = 958]
3. Performance and Credit Rating Scheme
oaTEa U iS22 G
[Option ID = 959]
4. Imdustrial Incentive Scheme
SR R
[Option ID = 960]
41) What are the problems commmaonly aszociated with the scientific management?

(A) Managers often implement only the increased output part of the plan

(B) Managers allow workers to share the benefit thus mereased labour costs

(C) Jobs become over-simplified and repetitive. often replaced by new technology
(D) Workers feel comfortable due to job security and practiced work

(E) Workers do not feel comfortable becausze of heavy pressure of work

Choose the correct answer from the options below:

ERlEE a2l e e i
(A)  TEUE A WA F 6 fY A2 W R o) e A
(B)  TEuUH T T FE H ATE FA od B (999 499 =0 &g Sl 2l

(C) A Aot weiiEd A TUEETE 5 A6 2, T #9985 ST ge Wasas w9 a7
Einisd

(D) =1 = gran 30 T T T B R HES SR e 7

419 Tov 70 faFeT) § o WA 39 F w9 A
[Question ID = 241][Question Description = 141_17_Management_SEPT22_Q41]
T (A), (O) and (D) only

Fae (A). () #7 (D)
[Option ID = 961]
2. (B}, (C) and (D) only
47 (B), (C) #iT (D)
[Option ID = 962]
3. (C) and (D) only
F7 (C) 57 (D)

[Option ID = 963]
4. (A) and (C) only



e (A) 317 (C)

[Option ID = 964]

42) The assumptions of rational decision making are:

(A) Preferences are not clear

(B) Preferences are not constant and stable
() Problem 1s clear and unambizuous

(D) Np time or cost constraint exist

(E) Final choice will maximize pay off

Choose the corvect answer from the options below:

(A)  HaEEAT W= TE6 2

(B)  SHawMAT Haq W T4 A6 2

(Q) = T 31T wEigra 2

(D) T A A HEE] E A A ] 2

9 fon o e ® B O T = S

[Question ID = 242][Question Description = 142_17_Management_SEPT22_Q42]
1. (A). (C). (D). (E) only

#a9 (A). (O (D). (E)

[Option ID = 965]
2. {A). (B), (C) only

== (A). (B). (C)

[Option ID = 966]
3. 4C), (D), (E) only
F55 (C). (D). (E)
[Option ID = 967]
4 (A). (B). (D). (E) only
F4+ (A). (B). (D). (E)
[Option ID = 968]

43)  Efficacy of written communication depends upon:

(A) Lengthy presentation
(B) Editing after writing
(Ch PBrevity in sentences
(D) Usze of strong words
(E) Effective use of words

Choose the most appropriate answer from the options below;



Toifigs = 1 v e e e R -

(&) = faww | =
By TR F A 5
(C) e i Eia
(D) 7% I/ WA

(E)  =ral = 99w w410

4= f5u 0 TS § H WA 3 R =T HiE
[Question ID = 243][Question Description = 143_17_Management_SEPT22_Q43]
1. (B), (C) and (E) only
Fa4 (B), (C) 97 (E)
[Option ID = 969]
2. (D) and (E) only
Fa7 (D) #1 (E)

[Option ID = 970]
3. (B). (C). (D) only

Fa5 (B). (C). (D)
[Option ID = 971]

4. {A), (C), (D), (E) only
Fa+ (A), (C). (D). (E)

[Option ID = 972]

44)  An approach of managing infernational operations in which nationality is down-played and

the firm actively searches on world-wide or regional basis for the best people to fill kev
positions. 1= known as:

(A) Geocentric approach

(B) Ethnocentric approach

(0 Polycentric approach

Chooze the most appropriate answer from the options helow

AR T FA % WA A WS UGl H W % 179 WA U BH ATaF U S0 = O A S
= = w7, ¥ st R w7

(A ToamEREs Aam

(B) =OEF A
(C) FrEmzE At

1= o T el B W WE I w0 =g S

[Question ID = 244][Question Description = 144_17_Management_SEPT22_Q44]
1. (A) and (B) only

Fae (A) =7 (B)

[Option ID = 973]
2. (A) only



A (A)

[Option ID = 974]
3. (B) and (C) only

=+ (B) 417 (C)
[Option ID = 975]
4 (C) only
== (C)

[Option ID = 976]

45) Which of the followingz ave the examples of need for status?

(A) Being in a position of authority over others

(B) Hawing executive privileges

(C) Participating in pleasant social activities

(D) Working for the mght company in the right job
(E) Living in the rght neighbourhood

Choose the most appropriate answer from the options below:
R e e 2 B ey e o o R e e T o A
(&)  =EE W mewe i R = Ee
(B)  FTEEET GrEarE] F AT

(C) T EEICEE T | HREe

(D) 3rEA F Fa S R H o EE

(E) 7#% 9=/™ o fHam #40)

= fou T el B 8 HeE 39 I A =9 A

[Question ID = 245][Question Description = 145_17_Management_SEPT22_Q45]
1. (A), (B), (C) only

Fa (A). (B), (O)

[Option ID = 977]
2. (B). (D). (E) only

47 (B). (D), (E)

[Option ID = 978]
3. (A), (D). (E) only

Fa5 (A). (D). (E)

[Option ID = 979]
4. (A}, (B). (C), (D) only

=& (A). (B). (C). (D)

[Option ID = 980]



46) Talent management process include(s):

(A) Human resomrree planning
{B) Selection of employees

(C) Development of employvees
(D) Emplovee compensation

(E) Employee seperation
Choose the most appropriate answer from the options below:
TiaT (2552) TEEE WA § S B -
(A)  TET A A
(B)  =FiE= =1 =39
(C)  =niE= = =EE

D)  FHE TiEg

(E)  F1Es sema

4= foo T e 2 | weE I9ET T w =g i

[Question ID = 246][Question Description = 146_17_Management_SEPT22_Q46]
1. {A), (B) only

Fae (A), (B)

[Option ID = 981]
2. (B). (T}, (D) only

#ge (B), (0. (D)
[Option ID = 982]
3. (C). (D). (E) only

g (C). (D). (E)
[Option ID = 983]

4. (A), (B), (C). (D) only
=5 (A). (B). (C), (D)

[Option ID = 984]

47)  Which of the following focus of OD interventions are relevant if the nature of intervention is

structured?

{A) Reorganization

(B) Team development
(C) Counselling

(D) Work review

(E) MBO

Cheose the most appropriate answer from the options below:



qle AEEEF HEEA (32ATH) F OEEd =AEg ¢ oAl AEEiEd 5 OH ERH-E 38 SEEeE FTEE

O &

[

(A REUET

for,

(B)y =9F (Fm) e

(C)

(D) = g

(E) wmam

4= fou 7o Tawed °§ W HEE SUgE I B = i

[Question ID = 247][Question Description = 147_17_Management_SEPT22_Q47]
1. {A). (B) only

== (A), (B)

[Option ID = 985]
2. (A). (D). (E) enly

el (A), (D). (E)

[Option ID = 986]
3. (B). (C). (E) only

Fa (B). (C). (E)
[Option ID = 987]

4. (A). (B). (C). (E) only
a5 (A). (B). (C). (E)

[Option ID = 988]

48)  Which of the following technologies are fast changing the accounting ecosystems?

(A) Blockehain technology

(B) Enterprise Resource planning (ERP)
(C) Cleud computing

(D)  Roboties

(E) Machine learning

Chaoose the correct answer from the options below:

e © o F o T S SEEER A ¥ g W w27
(A) SR AT

(B) == SETES SETE (3HE)

(€)  TFeATES FEgET

(D) Tz

(E) w9 s

F fou o e § @ 58 T w1 994 A

[Question ID = 248][Question Description = 148_17_Management_SEPT22_Q48]
1. {A). (B) and (C) only



Fa4 (A). (B) 51 (C)

[Option ID = 989]
2. ((C), (D) and (E} only

Faw (C), (D) #1 (E)
[Option ID = 990]
3. {A), (D). and (E) only
&= (A), (D). 37 (E)
[Option ID = 991]
4. [A), (C) and (E) only
a5 (A), (C) =1 (E)

[Option ID = 992]

49) Which of the following are the underlving assmmptions of eost-volume profit (CVP) analysis?

(A) Numbher of units produced and scld are equal

(B) Cost inputs and the output produced are linearly related
(C) Sales price and sales mix remain constant

(D) Zero base budgeting underly costs and pricing decisions

(E)  Total fixed costs and variable cost per unit ave constant
Choose the correct answer from the options given below:

T=TteTEa = | F-H - gE-sry (#6 = ) Eeem Fi e gEgnem 27

(&) FealEa = s T g e T A

(B) = gz s Teiee weeeE A e ey 2

() Tesht 573 =R o 779 HEA = 2

(D) 7 S WA 9 AT AW gea Jedl U setEa w2

= 1o 70 Taweal § W WA I 1 = A

[Question ID = 249][Question Description = 149_17_Management_SEPT22_Q49]
1. {A). (B). and (C) only

= (A), (B) 31 (C)
[Option ID = 993]

2. (), (D) and (E) only
Fae (C). (D) 311 (E)
[Option ID = 994]

3. (A). (C), and (E) only
FAH (A). (C) ¥ (E)

[Option ID = 995]
4. (B). (C)and (D) only

Fawi (B). (C) =17 (D)

[Option ID = 996]



50) While preparing a budget. which of the following activities enable managers to do a better joh
of managing:

(A) Advance warning of and assignment of rezponsibility for conditions that requive
corrective action

(B) Develop new pohicy to improve control of inventory management
() Adjusting the budget to reflect different levels of sales or production
(D) Coordination of activities among all departments whithin the organization

(E) Creation of standards for evaluating performance

Choose the correct answer from the options given below:

AL TAW A H G § W R0 T TG T Seal TR 0 ET w1 7
TET T S

(B)  Weg Ve F (9 8 YW F o0 95 i qgn Fe

(D) = F s oy B w6 |

(B)  =EoET F AT & e, g # g

B i MR 2 | = Bt i L A B e 1 L

[Question ID = 250][Question Description = 150_17_Management_SEPT22_Q50]
1. {A). (B) and (C) only

e (A), (B) 317 (C)
[Option ID = 997]
2. (C). (D) and (E) only
Faet (0), (D) 37 (E)
[Option ID = 998]
3. (A). (D) and (E) only
Fa (A). (D) 3 (E)

[Option ID = 999]
4. (B). (C) and (D) only

Fa+ (B). (C) # (D)

[Option ID = 1000]

> Which of the following tests/ studies ave related to testing of the weak form stock market

efficiency?

(A) Event studies

(B) Size effect

(C) Runs test

(D) Price — Earnings (P/E) ratios

(E) Autocorrelation tests

Choose the most appropriate answer from the options given helow:



frfarad § |5 FF § [958 /3090 =i 2 Feeal % wAn e F e § w6y 57
A T

(B) o JJI_S-q. e

(€ #H=

(D)  wEE-wE (A1)

e

(E) T9TY OrOmey (ST ) 72

4 fau o fawen @ 5 w99 99g IR W 99 i

[Question ID = 251][Question Description = 151_17_Management_SEPT22_Q51]
1. (A), (B)and (C) only

Fa= (A). (B) 7 (C)

[Option ID = 1001]
2. {C). (D) and (E) only

Fae (C). (D) 5 (E)

[Option ID = 1002]
3. (A) and (C) only

A (A) 3 (C)
[Option ID = 1003]

4. (C) and (E) only
Fa=1 (C) 31 (E)

[Option ID = 1004]

52)  Which of the following ave sssential characteristics of financial markets?

(A) Price continuity and depth

(B) Liguidity and marketability

(C) Normative governance and regulation
(D) Timely and aceurate information flow

(E) Minimum transaction cost and informational efficiency

Chaose the most appropiate answer from the options given helow:

FeriETEs © %m0 EeE AT S 9 EeEm

(A)  FEG G i T

(B)  =eten ST fauveTaar (arkericre )
(€)  Fweel e A1

(D) HEEER AW 9 I AR

+= fou T T ¥ W TeE ST I F = A

[Question ID = 252][Question Description = 152_17_Management_SEPT22_Q52]
- (A). (B) and (C) only

Fae (A). (B) 37 (C)



[Option ID = 1005]

- (C), (D) and (E) only

e (C). (D) #i (E)

[Option ID = 1006]

- (B), (C) and (D) only

Fa (B). (C) =1 (D)

[Option ID = 1007]

(A). (B). (D) and (E) only

Fa= (A), (B). (D) #7 (E)

[Option ID = 1008]

53)

Which of the following statements are frue in context of customer value and satisfaction

concept?

(A) Value perceptions increaze with quality. service and price

{B) Customer value trad is primarily a combination of guality. service and price

(C) Marketing 1= the identification. creation. communication. delivery and monitoring of
customers value

(D)  If the perceived performance of the product matches with perceived expectations, the
customer is delighted

(E) Satisfaction reflects a person’s judgement of a product’s percerved performance in

relation to expectations

Choose the correct answer from the options given below

TTEF qe A EA SEUE F Hed H FEenEa S 8w 96 A

(A)
(B)
(C)
(D)
(E)

T, A1 AT FEA F WY 5 = § gig v A

UTeF Ged oRI01 T, HET S FEa o 5T 59 H U6 540 7

Ale I HAYH O, WES0 TS SHETE § 5 Wil w, 1 A THe 7 |

T TRl =3 % 30 F TEy 4 39E F SEEE o F e w0 aeiEE w2

Hi= Tou T Tawedl 5 4 HuH I9E S R 9AT R

[Question ID = 253][Question Description = 153_17_Management_SEPT22_Q53]

1.

4.

(A), (B) and (C) only

Fa= (A). (B) 317 (C)

[Option ID = 1009]

(B). (C) and (D) only

Fa= (B). (C) #7 (D)

[Option ID = 1010]

(B). (C) and (E) only

Fa (B). (C) 91 (E)

[Option ID = 1011]

(A). (D) and (E) only



A (A). (D) #= (E)

[Option ID = 1012]

54 ; ; : . i
) Which of the following statements characterize the growth phase of product life-cycle?

{A) Build intensive diztribution

(B) Maximiize profit while defending market share
(C)  Build awareness and interest in the mass market
(D) Diversify brand and items models

(E) Price to penetrate market

Choose the most appropriate answer from the options given below:
FieiEA 8 9 F1 9 #5039 SEa-T% T wgen i e mae 2
(A) T T T3 F
(B) ST ST ] WIE TR 5U T H AGwAE = 5 A
(C)  =F (W79) =R § AEFA AT wHE HTEE FT
(D) @z 34T 751 F Hizer w A= GET T

(E) == =hraa FHamon #e  sran 95 (Fiez) w5

4 fom o gl © F TeE SUSE S 1 9 i

[Question ID = 254][Question Description = 154_17_Management_SEPT22_Q54]
1. (A). (B) and (C) only

Fa7 (A), (B) 37 (C)

[Option ID = 1013]
2. {A),(C) and (E) only

=ae (A). (C) 3T (E)
[Option ID = 1014]

3. (C), (D) and (E) only
Fa= (). (D) # (E)

[Option ID = 1015]
4. (A). (D) and (E) only

= (A), (D) 517 (E)

[Option ID = 1016]



55)
Which of the following statements arve true in the context of CRM (Customer Relationship

Management) 2.07
{A) Customer Interactlons are not pre planned but happen in real tune

{B) Software as a service 1= the dominant CRM model particularly in small and medium-
sized businesses

(C) Customer data iz typically stored on corporate servers only

(D) Means available for analytics are only standard multivariate statistical procedures
such as cluster analysis and logistic regression

({E) CERDM 2.0 uses massive amounts of structured and unstructured data
Choose the most appropriate answer from the options given below;
H W T ITSEET 999 9AEE 2.0 & 954 § HEeias § O 790 w9 mE AT

(A)  SUEEA 34 TFAW G-I A5 Bl E AR G e g wEl A

(B) UF Tl ® B4 H AMEZEAC; @99 WU 4 Y A 9590 AT & SIE9El U UE 6 AN U

a1 7
(C)  F99ET F AFs [F9= E9 H Fae TS T9 W =0 e T A
irat=F fowe 2

-

(E)  ©i ¥ U 2.0 Sr=ATE S W-SrEATTE SRSl ) (GEe e s e 2

4= Tz T fEeat B O T T I = A

[Question ID = 255][Question Description = 155_17_Management_SEPT22_Q55]
1. {A). () and (D) only

99 (A), (O) 57 (D)
[Option ID = 1017]

2. (B}, (C) and (E) only

Fa5 (B). (C) #i (E)

[Option ID = 1018]
3. (A), (B) and (E) only

a1 (A), (B) # (E)

[Option ID = 1019]
4 Q). (D) and (E) only

== (C). (D) 37 (E)

[Option ID = 1020]

56) Penetration price strategy-is followed under which of the following conditions?

(A) Where there is a high degree of price elasticity of demand
(B) When strong competition is expected =oon after product introduction
(C) When company wants to recoup 1ts research and development expenditure

(D)  When company must keep demand within its production capacity

Choose the most appropriate answer from the options given below:



=g B 0 T GO0 § $aA geg Wi 1 S R Ay A

(A)
(B)
(C)
(D)

R B YT T 3w 5 W R
R IR G0 R 9 A a7
T F AT ATHGH U A F @ 1 agee e 2

S OGN W I AHAT % A T 9wl 8l

= foo 7w faeT O 1 weE Sug I =g S

[Question ID = 256][Question Description = 156_17_Management_SEPT22_Q56]
1. (A) and (C) only

FadE (A) 7 (C)

[Option ID = 1021]
2. (B) and (D) only

A= (B) # (D)

[Option ID = 1022]
3. (A) and (B) only

Fa (A) 317 (B)

[Option ID = 1023]
4. {A) and (D) only

Fa= (A) =i (D)

[Option ID = 1024]

57)

Which of the following are the myvths of brand commumties?

(A)
(B)
(Cy
(D)
(D

Build the brand and the commumnity will follow

Focus on opimion leadeis to build a strong community
Brand communities exist to serve the business

Online =ocial networks are the best way to build community

Social networks are one community tool. but the tool is not the strategy

Choose the most appropriate answer from the options given below:

A
(B}
(C)
(D)
(E)

T T35 TR (a0 ST9nE A 0 SW e

ATz A A2 FHSE HATT F FEE @ Al

Hee ZF T AT A19A 2, W 5SS FE i 98 2

Hr= fan T T @ @ T IUEE I T A

[Question ID = 257][Question Description = 157_17_Management_SEPT22_Q57]
1. {A) and (E) only

a9 (A) 90 (E)

[Option ID = 1025]



1.

2.

3.

4.

2. (B). (E) and (D) only

Fa7 (B). (E) 37 (D)

[Option ID = 1026]
3. {A). (B) and (C) only

F5+ (A), (B) 37 (C)

[Option ID = 1027]

4.

(A). (B), (C) and (D) only

Fa= (A). (B). (C) 57 (D)

[Option ID = 1028]

58)

Which of the following statements are true?

(A)
(B)

(C)
(D)

(E)

A good measure of dispersion 1s not duly affected by extreme observations

Standard dewiation incorporates the effect of extreme walues thus maling 1t mest
reliable measure of dispersion

Co-efficient of determination I:HE] iz alwavs positive and less than one

Non parametric tests do not require us to make restrictive assumptions about shape of
population distribution

Z-test can not be applied when population is normal

Choose the correct answer from the options given below:

Fr=iertgs 2 9 FH-1 Fua T8 5

(A)
(B)
(C)
(D)
(E)

TEFEoT =1 A= |19 TAVH % ATTEE G TANET 5 A A
LT e e o o e 4 1 1= M e = e ol i e = 11 £ 2 2 Lo 2 e o

et o (R2) #5m s 5w 1 # 59 A 2

AT WA % 1o 76 GH e & {EE & HuY A SgiEn YELaun F SAEeasa A6 wEl
T i A A, A 2 AT A6 2

4= fou v T | O o9 3 F 999 Fian

[Question ID = 258][Question Description = 158_17_Management_SEPT22_Q58]

(A). (C). (D) only

Fa9 (A), (C) 57 (D)

[Option ID = 1029]

(B), (D). (E) only

a1 (B). (D) 37 (E)

[Option ID = 1030]

(D), (E) only

= (D) 317 (E)

[Option ID = 1031]

(A). (D). (E) only

Fa7 (A), (D) A1 (E)

[Option ID = 1032]



59)

Indicate correct options of the follewing statements on data collection and guestionnaire
desizn .

(A

(B)

(@)

(D)

(E)

In order to ensure sufficiency of data. the fisld questionnaire must be 10% ahove the
required number

In structured interviews. Interviewers atiributes ecan siegnificantly affect the
respondent’s replies

Presentation of closed-ended guestions and the general lavout constitute mmportant
considerations in preparing a self administrated questionnaire

In computer assisted data collection. degree of control over the mterview process is
hish

Descrption of important ternunclosiesfjargons helps to improve the efficiency of
respondent in filling the gquestionnarie

Choose the most appropriate answer from the options given helow:

AT AR HA UTAES] A9FT FHEd § TR FAA 9 I -

(4)
(B)
(<)

o)
(E)

T FERS gt e o e 9 7 el wiiee Sen | 10% S aE S

TRl =R | IETeRT o 0 AT I R ARegn ©9 | YA B A

THEEE W] qAF F 0 OgA T9A 1 WA SR W S9Ee © Seeyn =En fEa
E L]

FIgEE I HETEAT B TR 0 ATRS HUEW B AR ST AT 1 9E S0 2 A

HEeAYYl WIHISE TesrEe /i weaEel & 9uE @ 9AEe] ® WA ° Sl il e weE |
=
el o

Hr fou 70 ToFea] 8§ HEE S9ET ST R =R A

[Question ID = 259][Question Description = 159_17_Management_SEPT22_Q59]

1.

2.

3.

4.

(&), (B). (C). (D) only

Fa (A), (B), (C). (D)

[Option ID = 1033]

(A). (O), (D). (E) enly

4 (A). (B). (€). (D)

[Option ID = 1034]

(B). (C), (D). (E) only

#a (B). (C), (D). (E)

[Option ID = 1035]

(). (D), (EYy onlx

Fae (C), (D), (E)

[Option ID = 1036]



60)

Which of the followins statement(s) are true in the context of gquality standards?

(A)
(B)
(C)
()
(E)

EAIZEN approach deals with confinuous improvement
BIS represents India in ISO

TQM cannot applied {o crude oil refining

Six sigma allows 3.4 defects per one million cases

Statistical quality control applications are lmited to manufacturing industries

Choose the most appropriate answer from the options given below:

T HES F 556 B EeEe § F R W R WA A Y

(&) FE (FUAEAS) ST T GAE H w0 7

(B) 7 3 T TR F W wH A7 F e e

(D) & & U UE WieEA S9E W 3.4 JEE A e o 2
(B)  =iferfm T fem s fafEm s o =i 2
= Tou. 7o ool § W HeH SUEE 30 O 94 a0

[Question ID = 260][Question Description = 160_17_Management_SEPT22_Q60]
1. (C). (D). (E) only

A (C), (D) =7 (E)

[Option ID = 1037]
2. (B). (C). (D) only

Fa (B). (C) A7 (D)

[Option ID = 1038]
3. (A), (B), (D) only

A (A). (B) 3R (D)

[Option ID = 1039]
4. (A), (D), (E) only

wad (A). (D) 377 (E)

[Option ID = 1040]

61)

Business intellizence ‘1s to improve the timeliness and gquality of the input for decision-
malking. It helps the managers to understand which of the following:

(A)
(B)
(C)

(D)
(E)

Internal capabilities of the organization
Trends and future directions in the markets

External environment =uch as economic, political, social and demographic
environment

Behaviour of the competitors

External capahilities of the organization

Choose the most appropriate answer from the options given below:



= wfg (Fem 2iemm) T F w5 1 guaesa S0 e § guw A 2| TEE TEaE fefeaa
T w1 whE § s el w2

(B) =TFEI A FEE AR 9E Ee

(C) e ST S AT, TERIAE, AT A S e
(D) WA= F =EER

(E) |72 =1 9@l HEam
= fau T el § ° weE I I = S

[Question ID = 261][Question Description = 161_17_Management_SEPT22_Q61]
1. (A). (B) (C) and (D) only
Fae (A), (B), (C) 3T (D)

[Option ID = 1041]
2. {A), (. (E) only

Fa= (A). (D) #F (E)

[Option ID = 1042]
3. {A). (B). D). (E) only
Fa+ (A). (B), (D) 311 (E)
[Option ID = 1043]
4. (A).(C) and (E) only
F= (A). (C) 377 (E)
[Option ID = 1044]
62)
Data warehousing has various characterstics including :

(A) Focuses on modelling and analysis of data relating to a specific area

(B) Data warehouse 1s an integration of data from various systems like CRM system, SCM
system, etc

(C) The time vamant for a data warehouse has a historical perspective for example. past
10-20 vears

(D) It 1= stored permanently 1.e data once stored can not be updated

(E) It 1= stored temporarily 1.e data once stored can be updated
Choose the most appropriate answer from the options given below:
=TT S FEE S e oA # e
(A) Tl ToeTT & § HAtas STRST 1 Riser SR faver W ST wega el B
(B) =W 3=t |9l AW UH [HeE, UH | UH [HEs w1 99 (909 [6ees 9 ATRST T T 7

(C) =W =3FTEE % Tou A5G = (2159 =062 1 UaaEE a7, $H - fEee 10-20 =79)

(D) 9 Tl ¥Y F GSIE [ ST 7 A9 O 69 9S00 SISl F SIEaa Fal {Fa) 3 g 2

(B) =9 syl =9 § S=iits TR S 7 ST UF AW SSRGSl 1 aeniea A o a2

S fou T Taseal © # TeE S99 T R =949 A

[Question ID = 262][Question Description = 162_17_Management_SEPT22_Q62]



1. (B). (D). (E) only

== (B). (D) #iT (E)
[Option ID = 1045]

2. (A). (B). (D) only
#Faa (A). (B) &7 (D)
[Option ID = 1046]

3. (A). (C). (D) only
¥ (A). (C) =i (D)

[Option ID = 1047]
4. (). (E) only

= (C) A (B)

[Option ID = 1048]

63 ; ;
) In regression model. assumptions of error term are:

{A) Zero-mean assumption

(B Constant-variance assumption
&) Dependence assumption

(D) Independence assumption

(E) Normality assumption

Choose the correct answer from the options given below:

nferes Hize ® Figq 32 Fi geawom w0 F -
(A) =3 9T gEEm

By A - W (FfmE) EEwm

(C) T gEar

D) A

(B) == Eawm

T 150 U fEed] §H HRE 360 S =a i
[Question ID = 263][Question Description = 163_17_Management_SEPT22_Q63]
1. (A). (C), (D). (E) only

T (4), (O, (D) T (E)
[Option ID = 1049]

2. (A}, (B (C)only
Fae (A), (B) #17(C)
[Option ID = 1050]

3. (B). (C). (D). (E) only
#F= (B). (C). (D) #7 (E)

[Option ID = 1051]
4. (A), (B). (D). (E)only



a9 (A). (B). (D) 311 (E)

[Option ID = 1052]
64)

Reason(s) for sickness 1n small industries in India are:

(A) Minimal use of artificial intelligence in business

(B) Inability to cope up with large marlket size

(@) Lack of innovation and technology focus

(D) Direct and mdirect competition firom foreign playvers

(E) Abszence of regulatory support

Choose the most appropriate answer from the options given below:

YA | = SAN H S0l 6 0 A

(A)  ==EE § FHE ST F T =

(B)  WTEW F W3 FTHER FT FEAT T Il SFATAT
(C)  EmEw TF T TR F A

(D) Tl AT " s T 9 Wi

(E) T aude 1 sgaeaia

= fom e Taedl 1 e SUgT S 6 =999 A

[Question ID = 264][Question Description = 164_17_Management_SEPT22_Q64]
1. (B). (D). (E) only

Fa= (B), (D) 37 (E)

[Option ID = 1053]
2. {A). (D). (E) only

Fae (A). (D) 377 (E)

[Option ID = 1054]
3. {A), (B). (C) only

Fae (A), (B) 37 (C)

[Option ID = 1055]
4. (B). (C). (D) only

=5 (B). (C) 57 (D)

[Option ID = 1056]

63) Innovative small fivms are more likely to be in existence in which of the following sectors?

(A) Enowledge — based services
(B) Biotechnology

(Cy Information technology

(D) Automiobiles

(E) Cement

Choose the most appropriate answer from the options given below:



AT =T T T AAEE A F T A9 F S T § B R SEEET 22

(A) T AT A
(B)  FF-TrEPER

(C)  F=AT T
(D) wEEEE

(E) Hit=Z

_'ﬁ% ﬁTr ™ ‘l—‘:H'V'*-l[ "I:l 33{ Hﬂ*;l TG 3T T HET 'T’:i-ﬂ"_;

[Question ID = 265][Question Description = 165_17_Management_SEPT22_Q65]

! (D). (E) only
F=4 (D) #F (E)

[Option ID = 1057]
2. (C), (D). (E) only

Fa (C). (D) 1 (E)

[Option ID = 1058]
3. (A).(C) only

Fa (A) 37 (C)

[Option ID = 1059]
4. (B (E) only

et (B) AT (E)
[Option ID = 1060]
66) i
Match Last I wath Tast IT :

IastT
Management concepts and theories
(&) System theory

(B) Contingency theory

(C)  Organization design

(D) Total Quality Manazement

(I

(IT)

Tist I0
Description

Customer oriented approach emphasizing
human resources and guantitative methods to
continuously improve

Conecerned with formal patterns of
arrangements and relationship developed by
management

(ITI} Based on open-systems theory and recognizes

that there are many. internal and external
factors that influence organizational hehaviour

(IV) All parts of an organization are Interrelated

and dependent on one another

Choose the correct answer from the options given below :



115 =2, geAt-11 1 foer i

11 F-II
(A) = g (s ) () == maw & fov omaE Smem @ gfmmores
A TS o A IR G
(B) ATRTErRal WgE (w2 2 () We4A GH1 THFET Hasdia] 5T g6 & A9=Ees
TET H Haiaa
(Q) T AT (IIT) AF-TF=s fEgm T “9iia 31 97 990 7 &
(TS 39 HAF FAEE AT AR HBEF WISATAE SN H
T T 7
(D) T AT T (IV) =33 = ol um wew gafas ¥ oh-ga w e

49 fev e e § © O 3 =99 e
[Question ID = 266][Question Description = 166_17_Management_SEPT22_Q66]
T (A)-(IV), (B)-(III), (C)~(ID). (D))

[Option ID = 1061]
2. (A)(ID). (B)-(IID). (C)=(D). (D)-(IV)

[Option ID = 1062]
3. (A-(D). (B)-(II). (C)(IV), (D)-(II1)

[Option ID = 1063]
4 (A, (B)-(D, (C)-(ID). (D)-(IV}

[Option ID = 1064]

67) WMatch List I with List IT :

List1 List IT
Big Five Personality Traits Descriptive characteristics
(&) Agreeableness iI) Assertive
(B} Emotional stability (IT}y  Imaginative
(C) Extroversion (III} Trusting
(D) Openness to experience (IV) Secure

Choose the corvect answer from the options given below :

-1 % =03, G-I 7 e Hifem

=11 =11
(A) TEHtEEET () v
(B) wraTesE fm (II) o=
(C)  teHma (ITT) Ty =
(D) FATE =5 T (IV) Feias

i f50 0 faEedl @ W HA 390 1 999 A
[Question ID = 267][Question Description = 167_17_Management_SEPT22_Q67]
T (A)IID), (Bi-(I), (CH-(IV), (D)-(ID)

[Option ID = 1065]
2. (AN, (B-(IV). (Cr-D), (D)-(ID)



[Option ID = 1066]
3. (ANIV), (By-(TIID), (C)-(D), (D)-(ID)

[Option ID = 1067]
4. (AIID, (B)-(IV). (C)(II). (D)D)

[Option ID = 1068]

68)  Nateh List I with List IT:

List I List I
Life Cvele of an MNC Staffing approach
{A) Setting up the host unit (Il Palycentric approach is preferred

(B) Establishing the technology team to (II) Distinctly polvesentric approcach
begzin core operational activities
(Cy Full blown operations of the host unit (III) Distinctly polycentric approach: could
with sigmificant role in establishing zet to geocentric approach
global ohjectives and targets
(D)) Strong operational leadership at the (IV) Usually an ethnocentric or a
unit level while globally conseolidating geocentrie approach
with parent company

Choose the correct answer from the options given below :

o1 F my, g1 7 faem Fire

-1 FHI-IT
TR wH H w1 A= 9w = AT () ST
(A) THEAW (F72) $HE T H @) @R-isH 30 T = 7

(B) THE VEIEHA THEEES FOWEY FE wd () T2 B9 A wR-wnE I

(C) dfas =791 va = H TR Fd 9 (D) 9= E9 OH SE-FGF 9. §-FiaE

&1 | TEeEE|
(D) T#E T W °5E THEEA 490 werw dwad (V) TR TAlG-HnE G Y-Hiaw
e L e e e i s 2 R e |

E 1 L e e e e = e 1 o By e = L

[Question ID = 268][Question Description = 168_17_Management_SEPT22_Q68]
1. (A)(IV). (B)-(II). (C)-(I). (D)-(I1I)

[Option ID = 1069]
2. {A)AIV). (B)-(D). (C)-(II), (D)-(IIT}

[Option ID = 1070]

3. (A)(D), (B)-(IV). (C)-(IIT). (D)-(IT)
[Option ID = 1071]

4 (AT, (By-(T). (C)-(IIL). (D)«IV)

[Option ID = 1072]



69 F 3 -
) Match List I wath Last IT ¢

List I
Costs and Financial Concepts
{4) Financial leverage
(B) Contribution margin
(C) Operating leverage

(D) Combined leverage

Tast IT
Mechanism and Measures
(Il Contribution margin = EBIT
(Il) (EBIT) = (EBIT —interest)

(IIT) (Contribution margin) =
(EBIT — interest)

(IV) Sales —variable costs

Choose the correct answer from the options given below :

1.1 % =1, gei-I0 & e Fie

=1
=T = T sEEm
(A) TiE T
(B) e Wit (FHzerm wit)
(C) T=ETH SERE

(D) = S

4= Tou T eI B H WA S =99 A

I
A T HH
(I) 9%F o = 3 5 A #
(ID (3 =t =778 21) = (3 =1 971 & — =)

(III) (39T °T=) <( &1 318 71 — =)

ey o [ [
(IV) Tsshl — JREAE0E A0

[Question ID = 269][Question Description = 169_17_Management_SEPT22_Q69]

T (A)-(ID). (B)-(D). (C)-(IV). (D)-(ILI)

[Option ID = 1073]
2 (AIID). (B)-(IV). (C)-(D. (D)4ID)

[Option ID = 1074]
3.0 (A, (Bi-IID. (CH-(IV), (D)-ID

[Option ID = 1075]
4. (A)-ID. (B)-(IV). (C)-(I). (D)-(ITT)

[Option ID = 1076]
70) Match List I with List II :
List1
Characteristic based price factors

{A) Volatility (VOL)

(B) Momentum (MOM)

(C) Size Non Lineanmty (SNL)

(D) Non Estimation Indicator (NEI)

List I
Descriptions

(I} Captures deviations from linearity i the
relationship between returns and firm size

(II}) Uses returns to firms outside the eguity
universe to account for risk dimensions not
captured by the other rigk factors

(IIT) Dafferentiates between stocks with positive
and negative excess returns in the recent
past

(IV) Captures hoth long term and short term
dimensions of relative returns varability

Choose the correct answer from the options given below :



-1 % =4, g1-11 1 e fifee

(A)

(B)

{C)

(D)

T |

At (3 o )

HEed (TH #Hl 1H)

HES AA-AENE] (TE T )

FEI-1T
(I) "iEFal 37 T8 3F0 & 954 §99 ° i@Ea 3

a1 =i e 2
(I) HGH wWEE % &0 S@e- 7q 999 G625
(IIT) == % &/F TF9 § =907 F #0 T0eF T

T AEET F SO FA A

e e o i e B o e L 0 e D 1

[Question ID = 270][Question Description = 170_17_Management_SEPT22_Q70]
T (A)(D), (B)-(IID). (C)-(IV). (D)~(IT)

[Option ID = 1077]
2. (A)IV), (B)-(III), (C)-(D). (D)-(IT)

[Option ID = 1078]
30 ATV, (BT, (Cy=(IT), (Dy~(I1T)

[Option ID = 1079]
4 (A)ATIID. (B)-(IV). (C)-(T). (D)-(IT)

[Option ID = 1080]

71)

Match Last T with Tast IT :

Last I

Comipany
(&) Alliance air D
{(B) Delhivery (IT)
(C)  Imgo (TIT)
() EKuoni (IV)

ListIT

Nature of business

Swiss travel group

Online travel company
State owned regional earrier

New age logistic and supply chain start up

Choose the correct answer from the options given helow :

1% =4, g1-11 1 e hirae

(A}
D)
(C)
(D)

71 I

TS I Iy =\

ZeEE (II)  ==eea 23

FAH (IV) = 597 (= ) F w3 S g W

4 Ton I e B W e 39 9 =959 hin

[Question ID = 271][Question Description = 171_17_Management_SEPT22_Q71]



1.

72)

(A)-(D. (By(IV). (C)-(II). (D)-(IT)

[Option ID = 1081]
(AT, (B)-(IV). 1C)-(IL). (D)-(I)

[Option ID = 1082]
(A)-(IID). (B)-(IT). (C)-(IV). (D)-(T)

[Option ID = 1083]
{(A)-(IT). (B)-(IV), (Cy-(I), (D)-(I1I)

[Option ID = 1084]

Mateh List I'with List IT :
Tast I
Possible level of customer expectations

(A} Normative expectations

(B) Acceptahle expectations

(C) Mimimuni trouble expectations

(D) Experience-haszed expectations

(I

(1T)

Last IT
Exainple
I expect this restaurant to serve me in an
adegquate manner
I expect terrible =erviee from this
restaurant but came because price 1s low

(IIT) Most of the times this restaurant 18 very

zoed. but when it gets busy the service is
slow

(IV) As expensive as this restaurant 1s. 1t ought

to have excellent food and service

Choose the correct answer from the options given below :

-1 % =, Fef-10 1 foerm =i

=11

(A)  HFEF T

(B) = g

(€) =g @5 W
(D) FFYF-snEI g

4= fon 7 faweT § 9 T 39 1 999 S

THIIT

=1 L

(D A =N T E T R T2 uArE 2 g 5= e

=

(I) # 30 720z A o9gd W@ Ha1 H AW FA A

9T TR SIS AT I R 5 2

(IIT) STahier TH9 =F =202 Fh F=91 2, W 78

L e e e e L 1t e 1

[Question ID = 272][Question Description = 172_17_Management_SEPT22_Q72]

1.

2.

3.

4.

(A-IV), (B)-II). (C)-(T). (D)-(ITII}

[Option ID = 1085]
(A)-(TV). (B)-(Th. (C)-(IIT). (D)-(I1)

[Option ID = 1086]
(A)(IV), (By(I), (Cy-{II); (D)-(IID)

[Option ID = 1087]
(A)D). (B)-(IV). (C)-(II). (D)-(IID)

[Option ID = 1088]



73)

Match List I with List IT :

Tast I List IT
Symbol Process chart activity
Ay D (I} Storage
B = (I Input
(Cy Vv (ITIT} Delay
o) O (IV) Transport

Choose the corvect answer from the options given below :

g1 =y, -1 1 fgerm i

eIl B
(A) D I) T
® = 1) F9
(C) V () T
@ O (IV) =mmEe
#ra fer o el B 9 T 39 =ge Fi

[Question ID = 273][Question Description = 173_17_Management_SEPT22_Q73]
T (A)-IV). (B)-(I1L). (C)-(T). (D)-(IT)

[Option ID = 1089]
2. (A)-(D. (B)-(IID). (C)-(ID. (D)-(IV)

[Option ID = 1090]

3.

{(A)-(II). (By-(D). (Chi-«(IL). (IDH-(IV)

[Option ID = 1091]

4.

(IIT), (B)-(IV). (C)-(T), (D)-{1T)

[Option ID = 1092]

74)

Matich List I'with List IT .
LastI
Trade concepts and terminalogy
(A) GATS

(B) TRIPS
(C) TRIMS
(D) MFN

(I

(IT)

(III)

(Iv)

List IT

Description
Extends multilateral rules and disciplines to
service
The agreement requires compliance with the
provisions of Bern convention of 1886 to which
India is a signatory
Refers to certain conditions imposed by a
government in respect of foreien Investment in
the countryv
Prevents countries from dizeriminating among
foreign suppliers of services

Choose the correct answer from the options given helow :



ael-1 5 =1y, g1 =1 foerm Fifao

EE! T
f“-": ;ﬁ..ﬁ- - r; .

(A) Fiew (S w2 ) () Bl § weuadia (Fag 6 S99 @F] e 2

(B) fgem (A1 s i wA) (I} =3 F70 0 18586 % 5+ H49H (750 9Wd IMHT 2.
% IUSI] F A AETEE 2

(C) Tz (Ft =W =77 v ) Ay b3 B T % o S swEw o onE
Fia9 7§ "4 2

Bl av) fh o s A e e b
Al 7

H9 fou T e B | HA S R = i
[Question ID = 274][Question Description = 174_17_Management_SEPT22_Q74]
1. (A, (BY-(ID). (Cy(IIDy. (D)-(IV)

[Option ID = 1093]
2 (AID, (B)-D), (C)-(IV), (D)-(IIT)

[Option ID = 1094]
3. (A)IID). (B)-IV). (C)(ID. (D)-(D

[Option ID = 1095]
4 (A(IV). (B)-(IO0), (C)-(T), (D)«IT)

[Option ID = 1096]

75)

Match List T'with List IT ;
List T Last IT
Concepts Institution/Schemes

{A) Entrepreneurship and innovation (I} Atal Tinkering lab

(B) Gapsz in value chains (IT) Pradhan Mantri Matsya Sampada Yojana
(C) Think Tank (IIT) Atal Innovation NMission
{D) Machine learning (TV) Niti Aayog

Choose the correct answer from the options given helow :

1% M, T 1 e firaw

7.1 I
(A) FafEeT oF =ER () === Tz =
(B) =4 4= 9 19 () TaFEE 5 JE A
(C) 7% 3% (IIT) ¥7=1 T 99
(D) oA A= (IV) i amm

Hr= fou 70 TRl B T HE I R =999 Firan
[Question ID = 275][Question Description = 175_17_Management_SEPT22_Q75]
1. (AL, (B)-(IV) (Ci-(I). (Dy-(II

[Option ID = 1097]
2. {Ay(D), (By-(IV), (C)-(IIT). (D)~(IT)

[Option ID = 1098]



3. (A)(IV), (B)-(IID), (Cy-(D. (D3-(ID

[Option ID = 1099]
4. (AWIII). (B)-(ID. (CH-IV), (D)<I)

[Option ID = 1100]

76) Arrange the following goods in the ascending order of the underlyving income elasticity of

demand.

(4) Necessities
(B)  Inferior goods
({C) Normal goods
(D) Luxury goods

(E) Giffen goods

Choose the correct answer from the options given below :
(Ay  AEvEERAT
® =
(C) =W 9T
(D) FawrrE Fos =

(E)  T79a 9=

4 Tou wu e O O HEl 3T 1 =99 HirAu

[Question ID = 276][Question Description = 176_17_Management_SEPT22_Q76]
1. (E), (B). (A). (C), (D))

[Option ID = 1101]

2. (D). (C). (B). (A (E)
[Option ID = 1102]

3. (E) (B (C). (D). (&)
[Option ID = 1103]

“ (A). (D). (C). (B). (B)

[Option ID = 1104]



77) Asrvange the following steps of organizational socialization in the proper sequence:

(&)
(B)
()
(D)

(E)

Select a good first supervisor to be incharze of socialization
Provide a challengine first job

Design a relaxed orientation program

Provide timely and conzistent feed back

Provide relevant training

Choose the correct answer from the options given below :

HEATEHE AETAAY F ASEEd S0 H H@E S 5 e S

(A) TSR YA 7 59 99 A AT O SR S H g el
(B)  wuH HE w9 AN HE A

(C) 7 g (Treterm ) slai==arg FrEEd 3917 FE]|

(D)  TFEG-TEE W A HG @i & T TEE e

(E) Wi afemeEer v )

1 B G L e e B e e e 0 e o e 1 L

[Question ID = 277][Question Description = 177_17_Management_SEPT22_Q77]
1. Q). (E), (D). (B). (A)

[Option ID = 1105]
2 (). (D). (E). (A).(B)

[Option ID = 1106]

3.

(B). (E). (D). (A). (C)

[Option ID = 1107]
(D). (A (E)L (B (O

4.

[Option ID = 1108]

78)

Arrange the given stages of process of organm=sational change 1n the correct sequence

(A)
(B)
(C)
(D

(E)

Information collection
Diagnosis

Motivation

Action proposal

Stablization

Choose the correct answer from the options given below :



TSI UiEEA 1 T F TR T S0 WA A § e e e -

(A T mE

(B

(C

~

) oA

S 1 5o

(D) FEEE v

(E

) e

4= 20 T ToEe 8 | HWE 39 9 999 HiAn

[Question ID = 278][Question Description = 178_17_Management_SEPT22_Q78]

1.

(Ch (B (A). (D). (E)

[Option ID = 1109]
2. (A), (Cy, (D). (E). (B)

[Option ID = 1110]

3.

). (AL (C) (B), (E)

[Option ID = 1111]
4. (A) (B A(C). (D). (E)

[Option ID = 1112]

79)

Arrange the following bond 1ssues In inereasing order of the underlyving risk;

(A) Convertible honds
(B) Callable bands
() Mortzage bonds
()] Unsecured bond

(E) Junk bonds

Choose the correct answer from the options given below ;

T=lelEs wi-s 0id = SHie 9GS % Sgd #H 0 st i

(A
(B)
()
(@

{E)

=

Tou o faseai B 9 W S F =9 iy

[Question ID = 279][Question Description = 179_17_Management_SEPT22_Q79]



T Q). (B), (A). (D). (E)

[Option ID = 1113]
2. (B).(C), (A). (D). (E)

[Option ID = 1114]
30 (AN A(O), (B (B (D)

[Option ID = 1115]
4. (). (A (B). (D) (E)

[Option ID = 1116]

80) Asrange the following in the ascending order in terms of their equity market capitalisation:

(A) India

(B} United States (USA)
{(C) Hong Eong

(I Japan

(E) Chinsa

Choose the correct answer from the cptions given below :
FeTeTEd T ISP AT (A F 9EH 0 AR 8 9 SERyE R -

(&) B LG

(B) 7z =EE (I AT
(C) TR

(D) =M

(E) =7

4= fon 0 fEwedl 6 @ wE 39 1 =9A A

[Question ID = 280][Question Description = 180_17_Management_SEPT22_Q80]
1 {B). (E). (A). (C). (D)

[Option ID = 1117]
2. (D). (B). (C). (E). (A)

[Option ID = 1118]
3. (B) (E). (D). (C). (A)

[Option ID = 1119]
4. (A), (Q), (D). (E), (B)

[Option ID = 1120]



81)

Arrange the following steps in the segmentation process in sequential order:

(A
(B)
(C)
(D}

(E)

Determine which demographics. hife styles and usage behaviour make the segment
distinct and actionahble

Create a "value proposition” and product-price positioning strategy for each segment
Group customers into sezments based on similar needs and benefits sought by them
Determine overall attractiveness of each segment based on some predetermined
eriteria

Create ‘segment story board to list the attractiveness of each segment’s positioming
strategy

Choose the correct answer from the options given below !

TSR T el S FEEAT S § A i -

(A)
{B)
({8}
(D
(E)

HE F1 99 37 FEATE TG 5 91 FANER A 3 T S5EEr F [aiE i)

T 9% A0 U §od TEATIA S 309 HiHd 40 T S

WEET R SUIEE B AETARAIA] H A 9 AT @S] B agia Fe|

FT @ AHTEE AFGI W S T 1S % WA ATRTEAT H HAE

T W31 i A Wi F AREEA] F e F A0 T3 = A giad e

4= Tou T famed 8§ HE 39 R 999 HiAn

[Question ID = 281][Question Description = 181_17_Management_SEPT22_Q81]

(O). (A). (D). (E). (B)

[Option ID = 1121]

N

- (O (AN (D). (Bl (E)

[Option ID = 1122]

w

(A, (C). (D), (B (E)

[Option ID = 1123]
4. (A), (D), (C) (B). (E)

[Option ID = 1124]

82)

Arrange the following modes of entrv in foreion markets starting with the mode of entrv
having least commitment. risk. control and profit potential:

(A)
(B)

(C)

(D)
(E)

Company hires a local manufacturer to produce the product.

Company starts experts working through domestic export agents and exports
management companies,

Company joins hands with local investor and forms a company in which both share
ewnership and contral,

Company starts export using domestic export department and overseas sales branch.
Comany offers a complete brand concept and operating system to an investor in return
of certain fee.

Choose the correct answer from the options ziven below :



e B o Ch e 3 o o o3 B o e e e e i o e et O £ S oy 1 1 =t o o 2
TGiE ¥ IE 7 5 Ao mE e

(A) T IUEA ¥ Tom Al T SeheE W A el el

(B) 1 =ie] e Uzl A FEiE YEEE A & qeaE | HE E 50 FA 0E F A

(C)y oAl TEE FOeE O TEar w5l & S0 U w9 sEE] & TaE0 BH FEiEeT S0 HEE0T 99
|

b

(D) e e Fava e s e e gy e e 5 e O e R

(E) =90 FA99 Toh F oaed J [HA1 FE00F F1 T 613 HEeT ST TEe GOl e wa al

1 far o Tt & © w8 I o7 =R Fiw

[Question ID = 282][Question Description = 182_17_Management_SEPT22_Q82]
1. (D), (B), (E). (C), (&)

[Option ID = 1125]

2. (B). (D). (BE). (A), (T)
[Option ID = 1126]

3. (B). (D). (AL (E). (©)
[Option ID = 1127]

4 (D). (B). (A), (E) (C)

[Option ID = 1128]

83)  What is the correct sequence of steps Involved in the master production schedule preparation?
(A) Obtaining the net requirement of materials

(B) Revising the preliminary master production schedule to accommodate the inadeguacy
of materials

() Obtaining the specification on required production
(D)  Assessing the mventory in hand and on order

(E) Determining the gross reqivements of materials using MRP
Choose the correct answer from the options given below :

T I A GAR F ° A0 =0 e b A7

(A) AW N FE AETEE 9

(B)  HEUT T SETEA H GAENAT FH 6 (0 TEAF THE ST S e e
(C)  TETo 315 9 famser Wi He

(B) g A 61 =6 70 e 50 A i F Al F A9

= o T Tl | o o I W =Ee i
[Question ID = 283][Question Description = 183_17_Management_SEPT22_Q83]
1. (A), (D). (). (B). (E)

[Option ID = 1129]
2. (A). (E). (C). (D). (B)

[Option ID = 1130]
3. (B). (C). (A). (D), (E)



[Option ID = 1131]
4. (C) (E) (D) (AL (B)

[Option ID = 1132]

84) The main processing functions of information system are given below. Arrange them in

sequencing order:

{A) Process transaction

{B) Maintain master file
(T Pracess enguiry
(D) Process report.

(E) Process interactive supper applications
Choose the correct answer from the options given below :

- - -
{A) AT =57

{B) AL Hie @hl TE0EE F1

(C) WA JEATE (WEE TR
D) wEE e

() whem s Feees qm s (G s aw aneie)

“/ fou T fFFeT § 1 A5 3 W == 0w

[Question ID = 284][Question Description = 184_17_Management_SEPT22_Q84]
1. (A). (B). (C), (D). (E)

[Option ID = 1133]
2. (A).(Cy. (D) (B)(E)

[Option ID = 1134]
3. (A, (D), (C). (B), (E)

[Option ID = 1135]
4. (A)(B). (D), (O). (E)

[Option ID = 1136]



85 The steps involved 1n development of a project are ziven below. Arrange them In proper

sequence.
(A) Selection of business idea for a detailled analysis from the competing ideas
(B) Project installation and imitiation

(Cy Feasibility analvsis

(D) Identification of investment opportunity

(E) Arrangements for financing

Choose the correct answer from the options given belaw :

TRl T F T A O = S THE 2| T e i
() T e = fom aioerdl fa=m § ° == e =
(B)  TEEATE SIS T TEE

(C)  FrgFaa e

(D) T s=a F1 9mme

(E)  Tarims 7g ==

4= fou T e W WA I W = e

[Question ID = 285][Question Description = 185_17_Management_SEPT22_Q85]
1. (D). (A), (C), (E), (B)

[Option ID = 1137]
2. (A), (C). (E), (D). (B)

[Option ID = 1138]
3. (B Q) (A (B (D)

[Option ID = 1139]
4. (C) (D) (E) (B (&)

[Option ID = 1140]

86)

Given below are two statements:

Statements 1 : Emplovers use human resource management activities to help employees

realize their full career potential.

Statements II: Emplovers do this just because thev gain by making better utilization of

emplovees potential.

In the hight of the above statements, choose the most appropriate answer from the options

given below :



AT FR e

Fod (1) : T, 0% S i @Ha) F W-g0 A0 FAA B OFREE F gen Fe & o0 am
FOTEA TEY FET H I A

F9 (ID) ; T BHT 9T SHIC0 A 7 P 3 BHSIE] i EHAT W Seal 3990 A J ST 2l 2

ST U F AR E, A T e % H e I R o9 i

[Question ID = 286][Question Description = 186_17_Management_SEPT22_Q86]

- Both Statement I and Statement II are corvect

e (D) =50 (1D =4 =351 21

[Option ID = 1141]
2. Both Statement I and Statement II are incorrect

w23 () 7 (I0) =4 74 21

[Option ID = 1142]
3. Statement I iz correct but Statement I 1= incorvect

Fom (1) #E1 2, =P o (D) 7T 2

[Option ID = 1143]
4. Statement I is incorrect hut Statement IT is correet

Fam () T 2, = 5 (D) 79 2
[Option ID = 1144]
87) Given helow are two statements :

Statement I : Effective channel management calls for selecting intermediaries and
training and motivating them in order to build long term partnership.

Statement II : Channel intesration must recognize the distinetive strengths of online and
offline selling and maximize their joint contributions.

In the Light of the above statements. choose the most appropriate answer from the options

given below :

= 7 e oo E

o () ETemlers HTEeH] HiEa # 7 HSEEA] ) 9EA L. S TS e s 3w AEanie

w (ID) ;ST TR R SIS S SRS (S T (e HAeiaa] F A w9 9 gied T6e

T YA F ETE 9, A= 150 T T O W HeE S9T 39 w9 i

[Question ID = 287][Question Description = 187_17_Management_SEPT22_Q87]



-

Both Statement I and Statement II are corrvect

F279 (I) 31 (ID) <=1 9 2

[Option ID = 1145]

Both Statement I and Statement II are incorrect

Fa () #11 (ID) 51 T 2
[Option ID = 1146]

3. Btatement I is correct but Statement II 1s incorrect

#a= (D) T8 &, A w99 (1D 7T 2
[Option ID = 1147]
4. Statement Iis incorrect but Statement II 1s correct

w99 (1) 7o B, S Fe (1D 78 21

[Option ID = 1148]

88 i
) Given helow are two sfatements :

Statement T : Interest coverage ratio indicates how many times fixed interest charges are
earned. based on the earnings availahle to pay these expenses.

Statement II : One minus the reciprocal of interest coverage ratio indicates how far
earnings could dechine before it would be mnpossible to pay the mmterest
charges from current earnings.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

fRTFm T
FF (D) A0 T S S0 FA 2  S wE F WE aa S0 S W S e S e

F2 (I : TF § | =479 T S99 S T7 30 Fadl 2 16 39 1 e e dim oA 9w ol 2
T FrHH SAF | ST A R A A69T T A

Eeri i ol i e e e 2 TR B i L o o B R B e e e 0

[Question ID = 288][Question Description = 188_17_Management_SEPT22_Q88]
1. Both Statement I and Statement I are true

Ty (D) & (1D 597 479 2

[Option ID = 1149]
2. Both Statement I and Statement I1 are false

e (1) = (1) 51 549 2|
[Option ID = 1150]
3. Btatement I is frue but Statement IT 1s false

F74 (1) 909 =, = Fa4 (1) 597 2

[Option ID = 1151]



Statement [ 1z false but Statement I is true
e (1) saeg 2, = weA (1) 579 2

[Option ID = 1152]

89) @iven below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Sustained current account surplus encourages the government to liberalize
imports and capital movements,

Reasons (B) : The current account and balance of pavments positions of a country can

significantly influence its economic policies.
In the light of the above statements. choose the correct answer from the options given below :

e o1 T U F - vk aiewe (Assertion (A)) F ¥ H W@ 7 91 580 396 0 (Reasons (R))

At (A) TyTie = W AN (TS F2 WS W) ATET E AEE A1 O feen
F A T F o WAt e 2

FA (R) : ot e 1 1 e L e L L =t o ) e e e e 11 e e 1 2 Ol e 1 e 8
T 2

e i e e B = = 10 e L = i 0 = < ot e e - o B 1 L

[Question ID = 289][Question Description = 189_17_Management_SEPT22_Q89]
! Both (A) and (R) are true and (R) 1z the correct explanation of (4)

(A) R (R) =/l 39 7 30 (R), (A) 1 571 =01 7

[Option ID = 1153]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (4)

(A) 31 (R) 21 O 2, #10 (R). (A) 1 T8 =m=) 481 &

[Option ID = 1154]
3. (A) 1s true but (R) 1z fal=e

(A) J54 2, @94 (R) 359 2

[Option ID = 1155]
4. (A)iz falze but (R) iz true

(A) 55975 &, =4 (R) = 2

[Option ID = 1156]



90) Given below are two statements : One iz labelled as Assertion A and the other is labelled as

Reazon R.
Asgertion (A) Median 1s the muddle mest item in the set of numbers,
BReazonz (R) : Mode 1s not unduly affected by extreme values.

In the light of the above statements. choose the most appropriate answer from the options

given below :

= ""1 B e %’U g Z . vF wFYA (Assertion (A % =Y T ToiiEa = A1 T 3% F1 (Reasons (R))

FEIH ;

HAWEEE (A) TSN F AE § SR G6d 55T 6 9% 760 7

FI (R) FEETF T God1 H SAETAF =Y H WEEE 6 2 2

ST T AT A, A 5 e 8 8 we I o 9 0

[Question ID = 290][Question Description = 190_17_Management_SEPT22_Q90]

1. PBoth (A) and (R) are true and (R) is the correct explanation of (A)

(A) ¥ (B) 5F1 59 7 30 (R), (A) =i 921 =m=n

[Option ID = 1157]
2. Both (A) and (R) are true but (B) 1s NOT the correct explanation of (A)

(A) 31 (R)y =1 &3 7, =it (R), (A) i =81 =3msan 77 7
[Option ID = 1158]

3. (A) is true but (R) is false
(A) T 2, S (R) @07 2

[Option ID = 1159]
4. (A) 1= false but (R) 15 true

(A) 37597 2, w3 (R) &7 2

[Option ID = 1160]

Topic:- 17_PARTB_S1



1)

Read the following paragraph and answer the five guestions that follow :

Digital transformation has been a key theme of the Union Budget 2022 with announcements
ranging from infrastructure status to data centers to taking fibre to all panchayats under the
Bharatnet program. Introduction of a block chain based sovereizn digital currency-and sstting
up of 75 digital banking units. constitution of tazk force for animation. visual effects. gaming
and comies (AVGC), launch of a digital university, digitalization of scheol education platforms
and support for the Production Linked Incentive (PLI) zcheme for large zcale electronics
manufacturing and IT hardware were al:fso part of the overall focus.

Announced in 2015 with the goal of ushering in digitally driven transformation in
governance, economy and society. it has already led to the launch of new schemes as well as
the expansion of others like Unified Payments Interface (UPI) the digital literacy program
(PMGDISHA), e-hospital, Digilocker. Common Service Centers (CSCs) and the number of
internet users has also grown to over 83 crores. It needs to ensure world class digital
mfrastructure meluding high speed broad-band connectivity and 5-G network. hyperseale
data centers to make India a global hub for data centers and cloud. With increased focus on
privacy. security and the need for storing data within the éountry. there are strong demand
drivers in place for making investments in data centers attractive.

Whole govt. approach and ereation of new public digital platforms in major domains such as
education. health. agriculture and logistics need to undergo a paradigm shift. There also
needs to he strong focus on standard interoperability and using common technology platforms
such as Aadhaar. UPIL Singlesign-on to make the development of new applications easier and
faster. Creation of a vibrant startup ecosystem 1n artificial intellizence. machine learning,
internet of things holds the key to achieving trillion-deollar digital economy goal.

Further, there iz an equally strong need to modernize digital laws in India to support growth
of digital economy and address concerns on accountability of online platforms and increasing
cyber security to create trust and confidence amongst the uzers in the online world, which is
crucial for digital inclusion and te bring the remaining population into the digital world.
A national policy on data governance is the need of hour so that access to data is made easier
for research apart from a strong push for skilling and eapacity building 1n digital technologies
at all levels In partnership with the industry and academia to make India skill and talent
capital of the world.



== Yore #1 UE v 4= U weEl #oI n)
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Which of the following could be the most appropriate title of the pazsage?

F=Eag § O F19-91 =58 =9 5 S0 3= S6E w5 gaar & ¢

[Question ID = 291][Question Description = 191_17_Management_SEPT22_Q91]

1. Digital Transformation

e * =
TefHze ZmwmeE
[Option ID = 1161]

2. Digital India: Way Ahead

[Option ID = 1162]
3. India: Digital and Skill Capital

[Option ID = 1163]
4. Vishava Guru Bharat: Digital Challenge

TavETE W - TstEeet SEiaa

[Option ID = 1164]



2)

Read the following paragraph and answer the five guestions that follow :

Digital transformation has been a key theme of the Union Budget 2022 with announcements
ranging from infraziructure status to data centers to taking fibre to all panchayats under the
Bharatnet program. Introduction of a block chain based sovereizn digital currency-and sstting
up of 75 digital banking units. constitution of task forece for animation. visual effects. gaming
and comies (AVGC), launch of a digital university, digitalization of scheol education platforms
and support for the Production Linked Incentive (PLI) zcheme for large zcale electronics
manufacturing and IT hardware were a.l:?o part of the overall focus.

Announced in 2015 with the goal of ushering in digitally driven transformation in
governance, economy and society. it has already led to the launch of new schemes as well as
the expansion of others like Unified Payments Interface (UPI) the digital literacy program
(PMGDISHA), e-hospital, Digilocker. Common Service Centers (CSCs) and the number of
internet users has also grown to over 83 crores. It needs to ensure world class digital
mfrastructure meluding high speed broad-band connectivity and 5-G network. hyperseale
data centers to make India a global hub for data centers and cloud. With increased focus on
privacy. security and the need for storing data within the éountry. there are strong demand
drivers in place for making investments in data centers attractive.

Whole govt. approach and ereation of new public digital platforms in major domains such as
education. health. agriculture and logistics need to undergo a paradigm shift. There also
needs to he strong focus on standard interoperability and using common technology platforms
such as Aadhaar. UPIL Singlesign-on to make the development of new applications easier and
faster. Creation of a vibrant startup ecosystem 1n artificial intellizence. machine learning,
internet of things holds the key to achieving trillion-deollar digital economy goal.

Further, there iz an equally strong need to modernize digital laws in India to support growth
of digital economy and address concerns on accountability of online platforms and increasing
cyber security to create trust and confidence amongst the uzers in the online world, which is
crucial for digital inclusion and te bring the remaining population into the digital world.
A national policy on data governance is the need of hour so that access to data is made easier
for research apart from a strong push for skilling and eapacity building 1n digital technologies
at all levels In partnership with the industry and academia to make India skill and talent
capital of the world.



=1 WrE F UE U9 9= 9 WAl I G
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s e, Tstozm wdsmaren 1 giz 1 A0iEE F 30 FEA o A SaEea madl e #
Fame Fa W wEs @ SeH F (0 96A °§ (stagel B B SAEEE S 6 d g A st
AFFEFA 7 ANF AT G § = F S W i AeAEvarE giea e o w5 A s
quTEEA Fi 9 S o et fva § wm o o ufs geea 2) 2 one wed v e fifs o
i FEIE 7 A WA H =TA F FIE AW UGG g A F [0 I S = S R 9eiEe |
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According to the passage. which one is the most crucial for the universalization of digital
inelusion?

T F AEE, Eee aeETE F AaEdimE F 9 Feeies @ 9 FE-a 5eE AieE geeag 2 ¢

[Question ID = 292][Question Description = 192_17_Management_SEPT22_Q92]
1. Artificial intelligence, machine learning and internet of things

FEG FGO, T AT 9 52 A

[Option ID = 1165]
2. New Laws to promote accountabihty. cyber secunty and privacy

[Option ID = 1166]
3. Digital promotion in education. health. agriculture and logistics

[Option ID = 1167]
4. Digital skilling and capacity building

[Option ID = 1168]



3)

Read the following paragraph and answer the five guestions that follow :

Digital transformation has been a key theme of the Union Budget 2022 with announcements
ranging from infraziructure status to data centers to taking fibre to all panchayats under the
Bharatnet program. Introduction of a block chain based sovereizn digital currency-and sstting
up of 75 digital banking units. constitution of task forece for animation. visual effects. gaming
and comies (AVGC), launch of a digital university, digitalization of scheol education platforms
and support for the Production Linked Incentive (PLI) zcheme for large zcale electronics
manufacturing and IT hardware were a.l:?o part of the overall focus.

Announced in 2015 with the goal of ushering in digitally driven transformation in
governance, economy and society. it has already led to the launch of new schemes as well as
the expansion of others like Unified Payments Interface (UPI) the digital literacy program
(PMGDISHA), e-hospital, Digilocker. Common Service Centers (CSCs) and the number of
internet users has also grown to over 83 crores. It needs to ensure world class digital
mfrastructure meluding high speed broad-band connectivity and 5-G network. hyperseale
data centers to make India a global hub for data centers and cloud. With increased focus on
privacy. security and the need for storing data within the éountry. there are strong demand
drivers in place for making investments in data centers attractive.

Whole govt. approach and ereation of new public digital platforms in major domains such as
education. health. agriculture and logistics need to undergo a paradigm shift. There also
needs to he strong focus on standard interoperability and using common technology platforms
such as Aadhaar. UPIL Singlesign-on to make the development of new applications easier and
faster. Creation of a vibrant startup ecosystem 1n artificial intellizence. machine learning,
internet of things holds the key to achieving trillion-deollar digital economy goal.

Further, there iz an equally strong need to modernize digital laws in India to support growth
of digital economy and address concerns on accountability of online platforms and increasing
cyber security to create trust and confidence amongst the uzers in the online world, which is
crucial for digital inclusion and te bring the remaining population into the digital world.
A national policy on data governance is the need of hour so that access to data is made easier
for research apart from a strong push for skilling and eapacity building 1n digital technologies
at all levels In partnership with the industry and academia to make India skill and talent
capital of the world.
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Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  India needs to modernize itz digital Laws to support the rapid growth of the
digital economsy,

Reasons (R): New digztal Laws arve needed for digital inclusion and bringing more people
to the digital world thus to mecrease digital users.

In the light of the above statements. choose the correct answer from the options given below :

=T 7 T EE T U ATHEAA (Aszertion (4) = =9 7 foAEa %Fi']‘r'm;. =% 0 (Reasons (R))
AR (A):  9WR i ssIaan °§ o 9 3ig w1 auian e F o o fetee Fwe
HIE S ] SETTEaT 7 |

T (R) : % Tn fiee e 7 9 F9 F o Bhes aneeen s atewtas = 5
ooz 7w 5 71 F o 9w St F f = w

IY FUH F AR H, A S0 T e § J HE F R 9gE i



[Question ID = 293][Question Description = 193_17_Management_SEPT22_Q93]

1.

Both (A) and (E) are true and (R) 1= the correct explanation of (A)

(A) ¥ (R) =F1 T & 37 (R), (A) F1 o7 =meT 2

[Option ID = 1169]

2. Both (A) and (R) are true but (R) iz NOT the corrvect explanation of (A)

3.

4.

4)

(A) 397 (B) oW1 acd 7, =it (R), (A) 1 =8 =weay 57 2

[Option ID = 1170]

(A) is true but (R) is false

{Ay == 7, =4 (R) 389 2

[Option ID = 1171]

(A) 1s false but (B) 1s true

(A) | 7, =i (R) @9 7

[Option ID = 1172]

Read the following paragraph and answer the five gquestions that follaw :

Digital transformation has been a keyv theme of the Union Budget 2022 with announcements
ranging from infrastructure status to data centers to taking fibre to all panchayats under the
Bharatnet program. Intreduction of a block chain based sovereign digital currency and sstting
up of 75 digital banking units, constitution of task force for animation. visual effects. gaming
and comies (AVGC), launch of a digital university, digitalization of scheol education platforms
and support for the Production Linked Incentive (PLI) scheme for large scale electronics
manufacturing and IT hardware were also part of the overall focus.

Announeed in 2015 with the goal of ushering in digitally driven transformation in
governance, economy and scciety. it has already led to the launch of new schemes as well as
the expansion of others like Unified Paymentz Interface (UPI) the digital literacy program
(PMGDISHA), e-hospital, Digilocker. Common Service Centers (CSCs) and the number of
internet users has also grown to over 83 crores. It needs to ensure world class digital
mfrastructure meluding high speed broad-band eonnectivity and 5-G netivork. hiyperseale
data centerz to make India a global hub for data centers and cloud, With increased focus on
privacy, security and the need for storing data within the country. there are strong demand
drivers in place for making investments in data centers attractive.

Whole govt. approach and ereation of new public digital platforms in major domains zuch as
education. health. agriculture and logistics need to undergo a paradigm shift. There also
needs to be strong focus on standard interoperability and using common technology platforms
such as Aadhaar. UPL Singlesign-on to make the development of new applications easier and
faster. Creation of a vibrant startup ecosystem 1n artificial intellizence. machine learning.
internet of things holds the keyv to achieving trillion-dellar digital sconomy goal.

Further, there is an equally strong need to modernise digital laws in India to support growth
of digital economy and address concerns on accountability of online platforms and inereasing
cyvher security to create trust and confidence amongst the uzers in the online world. which is
crucial for digital inclusion and to bring the remaining population into the digital world.
A national policy on data governance is the need of hour so that aceess to data is made easier
for research apart from a strong push for skilling and capacity building in digital technologies
at all levels In partnership with the industry and academia to make India =kill and talent
capital of the world.
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What has been the focus for digital transformation in the India Union Budget, 20227

(A) High speed broadband connectivity

{B) Accountability of online platforms

({C) Infrastructure status to data centres

(D) Increasing data and imntellectual property security

(E) Task force for Animation. Visual effects. Gamines and Comics (AVGC)
Choose the correct anzwer from the options given below :
YR F FoE g, 2022 1 T5iee SameE % 0 g Emt wn wm e v

(A)  FE-eiiz ¥ ¥ FAeEs

(B)  3TiemET w0 i A
(D) == AR AEF A H A w2
(E)  wimem. fagse seea, e w0 wimes (v A1 i =) % o e

#r fau  Toenl § O el 39T I R = A
[Question ID = 294][Question Description = 194_17_Management_SEPT22_Q94]
1. {A), (B) and (C) Only



2.

3.

4.

3)

Fa5 (A), (B) AT (C)

[Option ID = 1173]

{A), (D) and (E) only

a9 (A), (D) 3 (E)

[Option ID = 1174]
{B) and (D) only

#== (B) #7 (D)

[Option ID = 1175]
{C) and (E) only

= (C) 37 (B)

[Option ID = 1176]

Read the following paragraph and answer the five questions that follow :

Digital transformation has been a key theme of the Union Budget 2022 with announcements
ranging from infraziructure status to data centers to taking fibre to all panchavats under the
Bharatnet program. Introduction of a block chain based sovereizn digital currency-and sstting
up of 75 digital banking units. constitution of tazk force for animation. visual effects. gaming
and comiecs (AVGC), launch of a digital university, digitalization of scheol education platforms
and support for the Production Linked Incentive (PLI) zcheme for large =zcale electronics
manufacturing and IT hardware were al:fso part of the overall focus.

Announeed in 2015 with the goal of ushering in digitally driven fransformation in
governance, economy and society. it has already led to the launch of new schemes as well as
the expansion of others like Unified Paymentz Interface (UPI) the digital literacy program
(PMGDISHA), e-hospital, Digilocker. Common Service Centers (CSCs) and the number of
internet users has also grown to over 83 crores. It needs to ensure world class digital
mfrastructure meluding high speed broad-band connectivity and 5-G network. hyperseale
data centers to make India a global hub for data centers and cloud. With increased focus on
privacy. security and the need for storing data within the country. there are sivong demand
drivers in place for making investments in data centers attractive.

Whole govt. approach and ereation of new public digital platforms in major domains such as
education. health. asriculture and logistics need to undergo a paradizm shift. There also
needs to he strong focus on standard interoperability and using common technology platforms
such as Aadhaar. UPL Singlesign-on to make the development of new applications easier and
faster. Creation of a mibrant startup ecosvstem 1n artificial intelligence. machine learning,
internet of things holds the key to achieving trillion-dollar digital economy goal.

Further. there 1= an equally strong need to modernize digital laws in India to support growth
of digital economy and address concerns on accountability of online platforms and inecreasing
cyber security to create trust and confidence amongst the uzers in the online world, which is
crucial for digital incluslon and to bring the remaining population into the digital world,
A national policy on data governance is the need of hour so that access to data 1s made easier
for research apart from a strone push for skilling and capacity building in digital technologies
at all levels in partnership with the industry and academia to make India skill and talent
capital of the world.
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Which of the following initiatives have already mmitiated India’s digital transformation process
in governance, economy and society?

T=ieilEa B O A= TE 3 S, ST A ST J TR 7SIl Si92e] SEEHIE WA 9
[Question ID = 295][Question Description = 195_17_Management_SEPT22_Q95]
Aadhaar. UPI and Common Service Centers (CSCs)
WG, TAHAE 37T FH A= H2E (HoEH )

[Option ID = 1177]

2. Preduction Tinked Incentive Scheme

[Option ID = 1178]

3. PM Gati Shakt: Imtiaives

[Option ID = 1179]

4. Industry academia partcipation for digital technologies

[Option ID = 1180]



Topic:- 17_PARTC_S1

1)

Read the following paragraph and answer the five guestions that follow :

ABG Global Ltd. 15 a large size cereal manufacturing company that markets its meorming
cereals products to various countries of the world. In order to cater to the local markets. the
company malzes small changes in 1ts product hke sweetness and flavours. The core product.
branding and packaging are all standardised. The sales of products have witnessed an
unexpected rise in various Asian markets including India in the past few years, In response
to this growing demand. the company has pursusd an agressive strategyv of marketing and
producing its products by doubling itz capaecity. Last year. the company suffered a jolt., when
its =ales declined sharply. A careful analysis of market revealed that the market segment
which adopted the company's product were upper-middle class representing families where
both spouses are working. Initially 1t was glamorous to adopt cereals as alternative breakfast
option. But. after certain timie. they reverted back to traditional Indian breakfast. India.
being a highly conventional market offers less scope for standardized global products. In a
volatile demand structure wherein huge marketing efforts ave required. inhouse doubling of
production eapacity can result in large unrecoverable mvestment. thus hinting towards
alternative strategies. The CEQ of the company i1s now laying emphasiz on product
positioning strategies. Replacing a full meal with a non-Indian food has a lower success rate
calling for customization. As such brand equity may not work.
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iz a combination of standardization and differentiation. where the core
strategy remains same, but is made to take into account specific customer
group requirement,
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[Question ID = 296][Question Description = 196_17_Management_SEPT22_Q96]

1.

2.

3.

Positioning. effort

AT —=4T0H, THH
[Option ID = 1181]
Evaluation. segmentation
geITE, EUEEA

[Option ID = 1182]
Penetration, improvement



4.

2)

[Option ID = 1183]

Focus, differentiation
‘ =3
A -F, 94 :H 23y

[Option ID = 1184]

Read the following paragraph and answer the five guestions that follow :

ABG Global Litd. 15 a large size cereal manufacturing company that markets itz morming
cereals products to various countries of the world. In order to cater to the local markets. the
company males small changes in 1ts product hke sweetness and flavours. The core product.
branding and packaging are all standardised. The sales of products have witnessed an
unexpected rise in various Asian markets including India in the past few years. In response
to this growing demand. the company has pursued an agressive strategv of marketing and
producing its products by doubling ite capaecity. Last year. the company suffered a jolt, when
its sales declined sharply. A careful analyvsiz of market revealed that the market segment
which adopted the company's product were upper-middle class representing families where
both spouses are working. Initially 1t was glamorous to adopt cereals as alternative breakfast
option. But. after certain time. they reverted back to traditional Indian breakfast. India.
being a highly conventional market offers less scope for standardized global products. In a
volatile demand structure wherein huge marketing efforts ave required. inhouse doubling of
production eapacity can result m large unrecoverable mvestment. thus hinting towards
alternative strategies. The CEQ of the company 1s now laying emphasiz on product
positioning stratezies. Replacing a full meal with a non-Indian food has a lower success rate
calling for customization. As such brand equity may not work.
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A strategy mimed at reducing uncertainty faced by consumers when choosing produects with
unkngwn product quality 1s termed as
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[Question ID = 297][Question Description = 197_17_Management_SEPT22_Q97]

1.

2.

Standardization

-~

HIAFETFM
[Option ID = 1185]
Internationalization



3.

4.

3)

W

[Option ID = 1186]

Custonmization

TIHT - STF

[Option ID = 1187]

Improvisation

[Option ID = 1188]

Read the following paragraph and answer the five guestions that follow ;

ABG Global Litd. 15 a large size cereal manufacturing company that markets itz morming
cereals products to various countries of the world. In order to cater to the local markets. the
company males small changes in 1ts product hke sweetness and flavours. The core product.
branding and packaging are all standardised. The sales of products have witnessed an
unexpected rise in various Asian markets including India in the past few years, In response
to this growing demand. the company has pursued an agressive strategv of marketing and
producing its products by doubling ite capacity. Last yvear. the company suffered a jolt, when
its sales declined sharply. A careful analvsis of market revealed that the market segment
which adopted the company's product were upper-middle class representing families where
both spouses are working. Initially it was glamorous to adopt cereals as alternative breakfast
option. But. after certain time. they reverted back to traditional Indian breakfast. India.
being a highly conventional market offers less scope for standardized global products. In a
volatile demand structure wherein huge marketing efforts ave required. inhouse doubling of
production capaeity can result n large unrvecoverable mvestment. thus hinting towards
alternative strategies. The CEQ of the company 1s now laving emphasis on product
positioning stratezies. Replacing a full meal with a non-Indian food has a lower success rate
calling for customization. As such brand equity may not work.
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18 a set of consumers who envince interest 1n the marketer’s offer
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[Question ID = 298][Question Description = 198_17_Management_SEPT22_Q98]
Target market

T WA



[Option ID = 1189]
2.  Potential market

[Option ID = 1190]
3. Loval market
FsE =
[Option ID = 1191]

4. Skimmed market

farmmt (fes) Amaw

[Option ID = 1192]

4)

Read the following paragraph and answer the five guestions that follow :

ABG Global Ltd. 15 a large size cereal manufacturing company that markets its meormng
cereals products to various countries of the world. In order to cater to the local markets. the
company malzes small changes in 1ts product hke sweetness and flavours. The core product.
branding and packaging are all standardised. The sales of products have witnessed an
unexpected rise in various Asian markets including India in the past few years, In response
to this growing demand. the company has pursusd an agressive strategv of marketing and
producing its products by doubling itz capacity. Last year. the company suffered a jolt. when
its =ales declined sharply. A careful analysis of market revealed that the market segment
which adopted the company’s product were upper-middle class representing families where
both spouses are working. Initially it was glamorous to adopt cereals as alternative breakfast
option. But. after certain timie. they reverted back to traditional Indian breakfast. India.
being a highly conventional market offers less scope for standardized global products. In a
volatile demand structure wherein huge marketing efforts ave required. inhouse doubling of
production capaeity can result in large unvecoverable imvestment. thus hinting towards
alternative strategies. The CEQ of the company is now laying emphasiz on product
positioning strategies. Replacing a full meal with a non-Indian food has a lower success rate
calling for customization. As such brand equity may not work.
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While expanding business to new markets. analysis of following is required as a fivst step:
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[Question ID = 299][Question Description = 199_17_Management_SEPT22_Q99]
Need for produet improvement

IS HEE il AETEEA]

[Option ID = 1193]

2. Analysis of current market position

s e e e

[Option ID = 1194]

3. Need for technological infrastructure

[Option ID = 1195]

4. Possibilities of marketing tie-ups
Tave |feE i waEE
[Option ID = 1196]
5) Read the following paragraph and answer the five questions that follow :

ABG Global Lid. 15 a large size cereal manufacturing company that markets its mormng
cereals products to various countries of the world. In order to cater to the local markets. the
company makes small changes in 1ts product hike gweetness and flavours. The core produet,
branding and packaging are all standardised. The sales of products have witnessed an
unexpected rize in various Asian mavkets including India 1n the past few years. In response
to this growing demand. the company has pursusd an agressive strategv of marketing and
producing its products by doubling itz capacity. Last yvear. the company suffered a jolt, when
its sales declined sharply. A careful analysis of market revealed that the market segment
which adopted the company’s product were upper-middle class representing families where
both spouses are working. Initially 1t was glamorous to adopt cereals as alternative breakfast
option. But. after certain time. they reverted back to traditional Indian brealkfast. India,
being a highly conventional market offers less scope for standardized global products. In a
volatile demand structure wherein huge marketing efforts are required, inhouse doubling of
production capaelty can result in large unvecoverable mvestment. thus hinting towards
alternative strategies. The CEQ of the company 1s now laying emphasis on product
positioning strategies. Replacing a full meal with a non-Indian food has a lower success rate

calling for customization, As such brand egquity mayv not work.
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In times of market uncertainties and low brand loyalties, the international firms should
respond to spurt in demand for its produets through:
AR AATHATHT AT oY F12 A= F AT H, SSE FE F g 8 0 s G | o
ot T LA 1 R | e e e e i e i

[Question ID = 300][Question Description = 200_17_Management_SEPT22_Q100]
1. Flexible inhouse capacities

Aol AT AaAT
[Option ID = 1197]

- Balanecing local and global production
T #1 ATEF T § Agee

[Option ID = 1198]
3. Qutsourcing

. = S

[Option ID = 1199]
4. Customized pricing
ERCiEaise ce cianniciion

[Option ID = 1200]
Topic:- 12_GP_SH2_Set1_A

) The following table presents the number of employees recruited for five different
positions/posts of Administrators. Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the yvears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmers | Testers | Peons

= R L R | L R L R|L|ER|L
Year i

2016 380 - 600 | — 44() — | 580 | — |410| —
2017 140 60 | 136 | 60 | 128 52 | 100 | 50| 92 | 48
2018 90 46 | 120 | 64| 120 60 | 112 |52 | 76 | 44
2019 74 44 [ 118 |48 | 104 50 | 124 | 48| 98 | 40
2020 80 36 | 128 | B0 96 56 | 136 | 44 | 112 | 60
2021 96 48 [ 144 | 56| 124 72 | 130 | 46 | 100 | 52




frefeifiaa arfaem 4 T o & S0 4 ad 2016-2021 % yones, favere e, s 3 a9
& ufg fim el w Faifaa ®) 3 gee @ (L) sdEiE f d@en § o @) arfas i@ o sifee
% T 9, YgT 1-5 %1 3 At (FHef w e ad 2016 2)

R FHATE] 1 faam

Yo | favema | 9w et FITH]

R|(L R|L| R | L|R|L|R/|L

2016 380 — | 600 | — | 440 | — | 580 | — [ 410 | —

2017 140 (60| 136 | 60 | 128 | 52 | 100 | 50 | 92 | 48
2018 90 |46 | 120 |64 | 120 |60 | 112 (52| 76 |44
2019 74 (44| 118 | 48 | 104 (50| 124 | 48| 98 | 40
2020 80 |36 |128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 |45 | 144 |56 | 124 | 72 | 130 | 46 | 100 | 52

If M and N represent the number of Analysts and number of Testers recruited in the
company during the years 2017 to 2021. Then M —N =

gfe M 3R N ad 2017 | 2021 % @R &0l 8 Friifam ol £ gen o gfiasi f qe=n #0
WA & 2, ] M—N=
[Question ID = 451][Question Description = 101_00_General_25_SEPT22_Q01]
1. 64
[Option ID = 1801]
2. 5B
[Option ID = 1802]
3. 48
[Option ID = 1803]
4. 44

[Option ID = 1804]

2)  The following table presents the number of employees recruited for five different

positions/posts of Administrators. Analysts, Programmers, Testers and Peons (R) in an IT
company and those who left (L) the company during the vears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmers | Testers | Peons
= R L R | L R L R |L| R |L
Year i

2016 380 - 600 | — 440 — | b80 | — | 410 | —
2017 140 60 | 136 | 60| 128 52 | 100 | 50 | 92 | 48
2018 90 46 | 120 |64 | 120 60 | 112 |52 | 76 | 44
2019 T4 44 | 118 |48 | 104 50 | 124 | 48 | 98 | 40
2020 80 36 | 128 | 80 96 b6 | 136 |44 | 112 | 60
2021 96 48 | 144 |56 | 124 72 | 130 | 46 | 100 | 52




fafefiga aifas O T o & i 4 99 2016-2021 % vores, faveye s, g 3 G
& uig fim el w Faifaa ®) 3 gee ™ (L) sdEmE f den § o #) arles d 6l o sifee
& INHM 9, UYq 1-5 H1 IR Afau) (Frf w e 26 2016 2)

AR Fieal @ fererr

yoTHE | favema | W et TITH]

R|(L RER|L| B | L|ER|L|R|L

2016 380 | — | 600 | — | 440 | — | 580 | — 410 | —

2017 140 (60| 186 | 60 | 128 | 52 | 100 | 50 | 92 | 48
2018 90 | 46| 120 |64 | 120 |60 | 112 (52| 76 |44
2019 74 |44 | 118 |48 | 104 |50 | 124 | 48| 98 | 40
2020 80 |36 |128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 | 458|144 |56 | 124 | 72 | 130 | 46 | 100 | 52

The total numhber of Peons working in the Company at the end of year 2020, 1=

i 2020 & 374 d% FO 0 FEE Gl f ofe g 2

[Question ID = 452][Question Description = 102_00_General_25_SEPT22_Q02]

1. 656

[Option ID = 1805]
2. 596

[Option ID = 1806]
3. 744

[Option ID = 1807]
4. 484

[Option ID = 1808]

3)  The following table presents the number of employees recruited for five different

positions/posts of Administrators. Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the years 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmers | Testers | Peons
— R L R L R L R |L| R |[L
Year i

2016 380 — 600 | — 440 — 580 | — | 410 | —
2017 140 60 136 | 60 128 52 | 100 | B0 | 92 | 48
2018 g0 46 120 | 64 120 60 | 112 |52 | 76 | 44
2019 T4 44 113 | 48 104 50 | 124 |48 | 98 | 40
2020 80 36 128 | B0 96 56 | 136 |44 | 112 | 60
2021 96 48 144 | 56 124 72 | 130 | 46 | 100 | 52




fFeferfiga aifa=m 9 el s & St 4 od 2016-2021 % vamas, fave wmas, ofaes i S
& ufg fim el w Faifaa ®) 3 gee @ (L) sdEiE f d@en § o @) arfas i@ o sifee
% IMEN W, Y99 1-5 %1 IW ATA0) (Ff @ e 6 2016 2)

A —am ATl @ fae

yoHe | favemes | wmmme | wqfless | S
R[(L B|L|B|L|B|L|RBR|L

2016 380 | — |600| — | 440 | — | 580 | — | 410 | —
2017 140 (60| 136 | 60 | 128 | 52 | 100 | 50 | 92 | 48
2018 90 |46 | 120 |64 | 120 |60 | 112 (52| 76 |44
201% T4 |44 | 118 (48| 104 |50 | 134 | 48| 98 | 40
2020 80 |36 |128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 |45 | 144 |56 | 124 | 72 | 130 | 46 | 100 | 52

The percentage increase in the number of emplovees working in the company in 2021 to that
in 2016 was maximum for the position of

ad 2016 1 30an 9 2021 § & § wEEE FdEiE B e § gfaee 9fyg Feafafea § 3 fam e
#d Hafas i ¢

[Question ID = 453][Question Description = 103_00_General_25_SEPT22_Q03]
1. Admimstrator

i BA T
[Option ID = 1809]
2. Analyst
ferger

[Option ID = 1810]

3. Programmer

T

[Option ID = 1811]
4. Tester

rfiers

[Option ID = 1812]



4)  The following table presents the number of employees recruited for five different

positions/posts of Administrators. Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the yvears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmere | Testers | Peons
= R L R | L R L R|L|R|L
Year i

2016 380 — 600 | — 440 — | 580 | — | 410 | —
2017 140 60 | 136 | 60 | 128 52 | 100 | B0 | 92 | 48
2018 80 46 | 120 |64 | 120 60 | 112 |52 | 76 | 44
2019 T4 44 [ 118 | 48| 104 50 | 124 |48 | 98 | 40
2020 80 36 | 128 | B0 96 56 | 136 |44 | 112 | 60
2021 96 48 [ 144 | 56| 124 72 | 130 | 46 | 100 | 52

ffafeas wife= 8 e 56 & &9 9 99 2016-2021 % yones, fwerye s, e 3 a9
& uig fum wel w Feifaa ®) 3 gesr ™ (L) sdEmE f gen § o @) arfess 3 @l o st
& IEM 9T, Y93 1-5 %1 3 4w (Fef & e 949 2016 7)

A -am ] @ fra

v | favems | gpmm qfieTes e

R|(L  R|L| R | L|R|L|R|L

2016 380 — | 600 | — | 440 | — | 580 | — 410 | —

2017 140 (60| 136 | 60 | 128 | 52 | 100 | 50 | 92 | 48
2018 90 [(46| 120 |64 |120 | 60| 112 |52 | 76 | 44
2019 74 (44| 118 | 48 104 (50| 124 | 48| 98 | 40
2020 80 |36|128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 |48 | 144 |56 | 124 |72 | 130 | 46 | 100 | 52

The pooled sum of the total number of emplovees working for all the five positions in the
company at the end of the year 2018 is

ad 2018 & 3id e Sl § Wi o= w2l W A sdariE £ e den @ agfad am fean 20
[Question ID = 454][Question Description = 104_00_General_25_SEPT22_Q04]
1. 3126

[Option ID = 1813]
2. 2988

[Option ID = 1814]
3. 3028

[Option ID = 1815]
4. 2058

[Option ID = 1816]



5 The following table presents the number of employees recruited for five different

positions/posts of Administrators. Analysts, Programmers. Testers and Peons (R) in an IT
company and those who left (L) the company during the yvears 2016 — 2021. Based on the data
in the table. answer the questions : (Year of foundation of the Company is 2016)

Year-Wise Distribution of Employees

Position | Administrators | Analysts | Programmere | Testers | Peons
= R L R | L R L R|L|R|L
Year i

2016 380 — 600 | — 440 — | 580 | — | 410 | —
2017 140 60 | 136 | 60 | 128 52 | 100 | B0 | 92 | 48
2018 80 46 | 120 |64 | 120 60 | 112 |52 | 76 | 44
2019 T4 44 [ 118 | 48| 104 50 | 124 |48 | 98 | 40
2020 80 36 | 128 | B0 96 56 | 136 |44 | 112 | 60
2021 96 48 [ 144 | 56| 124 72 | 130 | 46 | 100 | 52

ffafeas wife= 8 e 56 & &9 9 99 2016-2021 % yones, fwerye s, e 3 a9
& uig fum wel w Feifaa ®) 3 gesr ™ (L) sdEmE f gen § o @) arfess 3 @l o st
& IEM 9T, Y93 1-5 %1 3 4w (Fef & e 949 2016 7)

A -am ] @ fra

v | favems | gpmm qfieTes e

R|(L  R|L| R | L|R|L|R|L

2016 380 — | 600 | — | 440 | — | 580 | — 410 | —

2017 140 (60| 136 | 60 | 128 | 52 | 100 | 50 | 92 | 48
2018 90 [(46| 120 |64 |120 | 60| 112 |52 | 76 | 44
2019 74 (44| 118 | 48 104 (50| 124 | 48| 98 | 40
2020 80 |36|128 |50 | 96 |56 | 136 |44 | 112 | 60
2021 96 |48 | 144 |56 | 124 |72 | 130 | 46 | 100 | 52

During the period from 2016 to 2021 what i1z the approximate percentage(%) of the total
number of programmeras who left the company w.r.t the total number of programmers who
joined the Company?

a4 2016 A @ 2021 §1 @y & v, S Bied g T ) Fe e s 8 ug g S99
a6 #e HE e T g (%) 2

[Question ID = 455][Question Description = 105_00_General_25_SEPT22_Q05]

1. 18

[Option ID = 1817]
2 21

[Option ID = 1818]
3. g7

[Option ID = 1819]
4. 29



[Option ID = 1820]
Topic:- 12_GP_SH2_Set1_B
1) What is the full form of NROER'?

f=iifera 0 A/ ‘uq oW 1 2 HW A gl EY @ Ay
[Question ID = 456][Question Description = 106_00_General_25_SEPT22_Q06]
! National Repository of Online Educational Resources

[Option ID = 1821]
2. National Repository of Open Educational Resources

Fere froifaefl sfe 3 usERsqe FeEEs
[Option ID = 1822]
3. National Recruitment of Online Educational Resources
[Option ID = 1823]
4. National Recruitment of Open Educational Resources

[Option ID = 1824]

2 . i ; ;
) Which of the following approach does not come under cooperative learning?

frofafaa 4 9 -1 Tur™ =2 sfem % st 928 w27

[Question ID = 457][Question Description = 107_00_General_25_SEPT22_Q07]
1. Fizshbowl

[Option ID = 1825]
Jigsaw

[EEsy
[Option ID = 1826]
3. Demonstration

faesta (3amzym)

[Option ID = 1827]
4. Team-pair-solo
TA-Fm-1EhA (- —HTe)

[Option ID = 1828]



3)

What are the benefits of asynchronous mode of online learning?

(4A)
(B)
(C)
(D)
(E)

Self pacing
Immediate Feedbhack
Self-engagement
Flexibility

Presence of Teacher and student at the same time

Chobse the most appropriate answer from the options given below :

HAATE FTFTE F SEEHEE = (91E), % e Fe g e w7

(A)
(B)
(©)
(D)

(E)

TP TRl

it sfrafe

ST~ S TEGH

AT (FEEA)

o Al gug W e vl faaredi ) qufeaf

Hr9 feu o fasedi 8 4wl 3y I # 9R Fifw

[Question ID = 458][Question Description = 108_00_General_25_SEPT22_Q08]
(A). and (D) only

1.

2.

3.

4.

Fad (A) 3117 (D)

[Option ID = 1829]

(B). and (D) only

A (B) 311 (D)

[Option ID = 1830]

(A), (C), and (D) only

e (A). (C) 311 (D)

[Option ID = 1831]

(A), (C) and (E) only

F9e (A). (C) 31 (E)

[Option ID = 1832]



4) Given below are two statements :

Statement I :  Understanding level of teaching and learning is based on acquisition of
factual information. to see relationships. to comprehend. to seek

generalization and their application in life.

Statement IT . Reflective level of teaching and learning is based on the development of
critical thinking, problem solving skills and ereative thinking,

In the light of the above statements, choose the most appropriate answer from the options

given below :

I 21 % fau o 2 .

FYd [ Tem s Afam W Ane T AsAE godl, Hed9Edl F ARsH, HEed wd,

TR 5 o0 317 = ¥ 355 T3 5+ STH0E T 3nae Al

FE I oo wi i = fameiysl =0 SIS HeA, T AR R 3 g e
= T T S
i FYA & e d, A fau o famed 8 8 qea 2 TR # e S

[Question ID = 459][Question Description = 109_00_General_25_SEPT22_Q09]

- Both Statement I and Statement IT are correct

A I 30 O g1 | &

[Option ID = 1833]
2. Both Statement I and Statement I are incorrect

& 1 3 I 4 e 2

[Option ID = 1834]

Statement I 1s correct but Statement II 1s incorrect

&4 THA 2, oifed %94 I 7Ted 2

[Option ID = 1835]
4. Statement I is incorrect but Statement IT is correct

FY [T 8, oifd w9 L9 2

[Option ID = 1836]



5) Mateh List I with Last IT :

Tast T ListII
{(Fundamental factors) (Attributes of learning)
(A) Drive (I} Reward
(B) Cue (IT) Motivation
{C) Response (III) Stimulus
(D) Reinforcement (IV) Action

Choose the correct answer from the options given helow :

g1 Ty = g=-10 fmem Hiraw

GRS 1L
(wHifer® =) (rfermm =A1 fagmem)
(4) wm @ Afawa
(B) FEW (II) =g
(C) =R (D) 3559
D) T (@V) =

Hi=1 fau T fermedr § H OE 39 W =ET i
[Question ID = 460][Question Description = 110_00_General_25_SEPT22_Q10]
1 (A, (B)-(IV), (C)-(I), (D)-(IT)
[Option ID = 1837]
2. (A)-(ID), (B)-(IID), (C)-(IV). (D)-(I)
[Option ID = 1838]
3 (A)D). B)-D). (C)-(IV). (D)-D)

[Option ID = 1839]
4 (A)ID, (B)-(IID. (C)-(I). (D)-(IV)

[Option ID = 1840]

6) Exploratory research is primarily intended to

NI, 914 = qi@ 3294 A
[Question ID = 461][Question Description = 111_00_General_25_SEPT22_Q11]
. Gather preliminary information

i FAEEN U FA]
[Option ID = 1841]
2. Find out the causality of relation=
T~ HAY H] G A
[Option ID = 1842]

3. Enow the statistical significance of finding=

fseryl & wiferdm gg= IHE0

[Option ID = 1843]
4. Discover the specific contexts of rezearch



o o fafore gedi 1 =@ e
[Option ID = 1844]

7) The Likert scaleis used to measure a set of
freaferfiaa 0 B foas ag=rg & 9rR 77 o 6@ % yam T am 2

[Question ID = 462][Question Description = 112_00_General_25_SEPT22_Q12]

1. Values

Tt

[Option ID = 1845]
2. Norms

A=

[Option ID = 1846]
3. Agtitudes

ey

-

[Option ID = 1847]
4. Formulae

e

HTHe
[Option ID = 1848]

8) A literature review will have to answer the questions of :

(A) What area should not be investigated?

B What type of research has been done in the area?
(C) What research methods have been used?

(D}  What area has not been investigated?

(E) What methods should not have been used in earlier studies?

Choose the correct answer from the options given below :
wifer wiien =1 fyefafaa vl & 3w 2 afeuy
(A)  fom 2 9 gy e amn it
(B)  Tosell Temm &3 O fo sk =R v fam e 2
(C) T wnw wfaferi = swm e wn 2
(D) T8 & % s =7 fee a2

(By vy el 4 fa ufafadi & swgm =21 fem s fzu en

4= fen o ooyl | @ 98 30 & 999 Fifao .

[Question ID = 463][Question Description = 113_00_General_25_SEPT22_Q13]



1. (A). (B). (C) only
FaA (A), (B). (C)

[Option ID = 1849]
2. (B). (C). (D) only

#ael (B). (C). (D)

[Option ID = 1850]
3. (D). (C), (E) only

#aa (D), (C), (E)

[Option ID = 1851]
4 (D). (E). (A) only

Fad (D). (E). (A)

[Option ID = 1852]

9 3
) Given below are two statements :

Statement I :  Qualitative research uses a static set of questions.

Statement IT : In gquantitative research, questions are standardised.

In the light of the above statements. choose the correct answer from the options given below :

= & Hee feu 2

®eH T: U 90 0wl & fER oy @ gam fe A 2

Hed M :  aFmmeRs 9§ 99 A w6

W HUA T 4, A e e famed 0 9 gen 30y I @ =5 difa

[Question ID = 464][Question Description = 114_00_General_25_SEPT22_Q14]
- Both Statement I and Statement IT are true

Ty [ 30 &M O 2

[Option ID = 1853]
2. Both Statement I and Statement II are false

e 1 30 11 &1 315+ &

[Option ID = 1854]
3. Statement I is true but Statement II is false

Fod TH 2, dfd &9 I #5= 2

[Option ID = 1855]



4.

1.

2.

3.

4.

1.

Statement I is false but Statement IT is true

Hua T 78 2, dfed wya 1o 2

[Option ID = 1856]

10)

The sequence of stages in experimental research is

(A) Selection of the setting.

(B) Operationalisation of variables.

(C) Administration of the experiment.
(D) Selection of the experimental design.

(E)  Analvsis and interpretation of results.

Choose the correct answer from the options given below :

YR IH & =901 5 Y 2

(A)
(B)
(C)
(D)

(E)

ufeqdsr (Hien) @1 =54
TN T A=
FAFTH A 9F & G54

gfrorm @1 fagergm 3 sgpEn

A Teu mu fasem § 8 g8 3w &1 927 fifa

[Question ID = 465][Question Description = 115_00_General_25_SEPT22_Q15]

(A). (B). (D), (E). (C)

[Option ID = 1857]

(B). (D). (C). (A). (E)

[Option ID = 1858]

(A). (D). (B). (O), (E)

[Option ID = 1859]

(D). (A). (C). (B). (E)

[Option ID = 1860]

11)

One of the factors that influences our feedback to the communicated message most 1s

wifea Hew % an 4 zar ufagfe w1 watfes wwfan seare s i 4§ e 2 -

[Question ID = 466][Question Description = 116_00_General_25_SEPT22_Q16]

Location of reception

[Option ID = 1861]



2. Channel of mediation
ey =51 qredy

[Option ID = 1862]
3. Receptor's involvement

urét i1 A

[Option ID = 1863]
4. Transmission economy

T THAeEET
[Option ID = 1864]

12) 1 intra-personal communication. the medium that carries the messages 1s

H=I -4 TRk HIOY) § Hey arfEe 97 F1 e 2

[Question ID = 467][Question Description = 117_00_General_25_SEPT22_Q17]

1. The personal ego

Epicak reac

[Option ID = 1865]
2. The central nervous system

[Option ID = 1866]
3. The physical surrounding

—

[Option ID = 1867]
4. The symbol system

Hehd YOI

[Option ID = 1868]

13) What are the advantages of linear communication?

(A) Tt 1s best suited for persuasion

(B) It quickens the process of feedback

(C) It facilitates a two-way exchange of information
(D) It 1s extensively used in International propaganda

(E) It provides demarcated results

Choose the correct answer from the options given helow :



Tafrg FEMUT A 2 7

(&) TR HEA & fou warfas 3 2)

(B)y  3oH ufmgfe & wen 4 30 97l 2)

(©) 794 HE 1 fafeuim snem wam & 2
(D) =% ¥=TE TEE § w=0F A0 W 0w

(E) =T (447 Tiass 78 71 =

4= fev m Foere § 8 w8 T & =39 difau

[Question ID = 468][Question Description = 118_00_General_25_SEPT22_Q18]
- (A). (B) and (C) only

Fae (A), (B) 31 (C)

[Option ID = 1869]
2. (B}, (C) and (D) only

Fae (B). (C) 3 (D)

[Option ID = 1870]
3. (C). (D) and (E) only

#4944 (C). (D), 311 (E)

[Option ID = 1871]
4. (A), (D) and (E) only

Fae (A). (D) 31 (E)

[Option ID = 1872]

14) Given below are two statements :

Statement T :  Communication technology has made revisiting of ideas impossible,

Statement IT :  Technology has redefined the elements of time and distance 1n favour of

communication managers.

In the light of the above statements. choose the correct answer from the options given below :



9 @ w3 fen oo B .

%94 I:  TEW G0 A SEE] F SR ) SHEE 5 9 e B

g [L:  WETiER | A S g Al BN W 6 0 8 O g e

IR FYA & e 4, A9 feu e faded 8 3 5 I w1 |15 difau

[Question ID = 469][Question Description = 119_00_General_25_SEPT22_Q19]
1. Both Statement I and Statement IT are true

FEA I 3 @A I e #e 3

[Option ID = 1873]
2. PBoth Statement I and Statement IT are false

F24 1 AN %23 ILEH] T4 2
[Option ID = 1874]
3. Statement I is true but Statement II is false
#ga 1 a2, e %o 11 a2
[Option ID = 1875]
4. Statement I is falze but Statement IT iz true
&9 T 8, fbe 99 o8 2

[Option ID = 1876]

15 ; ; ; i
) Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Reason R.
Assertion (A):  The new system of digital communication has made the emergence of an
interactive soclety possible.
Reasons (R) : The new system 1z based on ‘digitised and networked integration of

multiple communication modes’.

In the light of the above statements. choose the most approprate answer from the options

given below ;



A @ wem fau e A o v wfuser (Assertion (A)) % #9 H fafigd 2 1 ¢80 39k RV (Reasons

(R)) % &4 T :
AR (A) fefsem o= 1 52 9o 5 a9 FEEE T F AaE F 5hE 59 2
F (R) ; 5 O] SE-TA e F S S0 2t I T W oA

9T e % AT H, I fen e faesed] 0 ® weas 20y I o1 =H difan

[Question ID = 470][Question Description = 120_00_General_25_SEPT22_Q20]
1. Beth (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 3311 (R) 2F1 @81 2 311 (R). (A) &1 98 =qrem 2

[Option ID = 1877]
2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)

(A) 31 (R) 21 581 2, @fd (R). (A) it & sz 48 2

[Option ID = 1878]
3. {A)is correct but (R) is not correct

(A) #é 2, @l (R) w4l 47 2

[Option ID = 1879]

4. (A) iz not correct but (R) is correct

(A) 5 97 2, o (R) 51 2

[Option ID = 1880]

16) In how many yvears the compound interest on Rs. 10.000 at the rate of 10% will be Rs. 2.1007
a9 =91 7 Rs. 10,000 % 10% =1 =7 § S#4ig =479 Re. 2,100 71 5001 7

[Question ID = 471][Question Description = 121_00_General_25_SEPT22_Q21]
1. 4 years

4

[Option ID = 1881]

. 95 years

2.5 44

[Option ID = 1882]
3. 2 years

2 a9

[Option ID = 1883]
4. 3 years

EEL

[Option ID = 1884]



17)  1f the population of a town decreases by 256% and 40% In two successive vears. what shall be
the decrease in the percentage of population after 2 years?

AfE fl T # FAEEn 3 FAEE a9 5 25%]| A7 40% 92 T A A 2 99 9wEE 98 AR 9 94 5

[Question ID = 472][Question Description = 122_00_General_25_SEPT22_Q22]

1. 1%
[Option ID = 1885]
2. 55%

[Option ID = 1886]
3. B6b%

[Option ID = 1887]
4. 62%

[Option ID = 1888]

18) In a mixture of two types of oils A and B, the ratioof A : Bis 3: 2. If the cost of a1l A 1s Rs. G0
per litre and that of oil B 1s Rs. 120 per litre, then find the cost per litre of the resulting

mixture.

A ¥ B 31 TFE F a9 % mAv H, A: B 399 3 : 2 31 3 99 A F71Fm9 Re. 60 W = ® aw
=1 B =1 *%ma Rs. 120 wiH =27 &, A1 700ET Ham 1 0id =2 ST J9 Fia39)

[Question ID = 473][Question Description = 123_00_General_25_SEPT22_Q23]

1. Rs.92
[Option ID = 1889]
2 Rs. 00

[Option ID = 1890]
3. Rs. 96

[Option ID = 1891]
4. Rs. 54

[Option ID = 1892]

19 ; o i 7 ;
) Find the missing term in the seres given below:

8.10.7,12. 5. 16, 3. ?

A1 € fi e 4 oH v §id i
8.10, 7,12, 5, 16,3, 2

[Question ID = 474][Question Description = 124_00_General_25_SEPT22_Q24]
1. 18
[Option ID = 1893]
[Option ID = 1894]
3. 94
[Option ID = 1895]
4. 19



[Option ID = 1896]

20 P :
) What is the average of first 6 multiples of 117

11 % 9o 6 orsl w1 A @ A ¢

[Question ID = 475][Question Description = 125_00_General_25_SEPT22_Q25]
1. 275

[Option ID = 1897]
2. 405

[Option ID = 1898]
3. 385

[Option ID = 1899]
4. 8l.b

[Option ID = 1900]

21) If the statement ‘All children are innocent’ is given as true. then which of the following
statement can be inferred to be true?

gfz ‘Al 7= TEm &' *9A %1 59 99 F =9 4 fafza T mn 2 @ 299 snam @ feifea O 4 fam
F2[ %1 Fewdd: g8 o= @ g 27

[Question ID = 476][Question Description = 126_00_General_25_SEPT22_Q26]

1. All thoze who are innocent are children.
o T4t o T2 7, v 2

[Option ID = 1901]
2. Some children are innocent.

T3 o e &

[Option ID = 1902]
3. All those who are non-innocent are adults.

T |t 7 W R 2L 9

[Option ID = 1903]
4. Bome children are non-innocent.

Fg w= T-THEm 7

[Option ID = 1904]

22) Which of the following statement 1s converse of the statement — “All academicians are
visionaries™?
fifera 0 4 ®iR =1 %43 5l anfae gl 26 & %A w0 diaem 27
[Question ID = 477][Question Description = 127_00_General_25_SEPT22_Q27]
1. Some visionaries are academiclans,

[Option ID = 1905]
2. Some academicians are visionaries.



Fo [TEE T R
[Option ID = 1906]

3. Some academicians are not non-visionaries.
T3 Foemtas g 7 7m
[Option ID = 1907]

4. No visionaries are not non-academicians.
i i g = o A 3

[Option ID = 1908]

23) ‘No one has ever succeeded to provide conclusive evidence for the claims of astrology.

Therefore we must conclude that astrology is non-sense’. Which fallacy 1s committed in the
above argument?

EERC I i TR e bl B T e e e e e T e 2 B s | e O i e
R S e il e Tl e e e £ e e B s 0 e M e e e

[Question ID = 478][Question Description = 128_00_General_25_SEPT22_Q28]

1. Hasty Generalisation

[Option ID = 1909]

2. Appeal to Ignorance

FFETAT 1 AR
[Option ID = 1910]
3. False cause
oz =)
[Option ID = 1911]
4. Shppery slope
fpseraer e (il w=iim)

[Option ID = 1912]

24)

Given below are two statements :

Statement T :  Relation of Invariable concomitance is the relation between hetu and
Sadhya which requires no quabfying term or hmitation (upadhi).

e.g. wherever there is smoke there is fire.

Statement IT :  Relation of invarable concomitance is the relation between hetu and
Paksa which requires gqualifying term or limitation (upadhi).

e.g. wherever there 1s fire there is smoke.

In the Light of the above statements. choose the most appropriate answer from the options

given helow :



= 21 FE9 EU U R

FoA1: T AeAladl = 499 7 A0 979 % 09 98 999 7 (99 S5 oS 1 91 HiErEA (390
Sl F71 291 7| |, 8 FA 91 99T 7, 987 A9 2

FuR II: 997 90T 51 G99 =9 @7 U4 F T 9% 669 ¢ HE 5% U5 97 =@ (3uE)
AT 7 & | SETEnd. TR FA 1 @m R, 99 94 2

I FYH = W 1, 9 T awen ¥ 8w 39T I H 98T fian

[Question ID = 479][Question Description = 129_00_General_25_SEPT22_Q29]
1. Both Statement I and Statement IT are correct
H4 T 51 I 57 2

[Option ID = 1913]
2. Both Statement I and Statement II are incorrect

g [ AR I &H 790 7
[Option ID = 1914]

3. Statement I is correct but Statement II is incorrect

Hee [ e 2, Al yd I 3097 2

[Option ID = 1915]

4. Statement I is incorrect but Statement II is correct
FUA 1 #H &, A woA 11 973 2
[Option ID = 1916]
25) “When I closed my eves the cat was sitting on the table when I opened my eyes, I found it
sitting on the chair therefore I can conclude that the eat must have moved from the table to

the chair while my eyes were closed”. According to classical Indian Philosophy whiech of the
following means of knowledge 1s used in the above argument?

T R 9T w92 o @ g i ow A | S A9 smy " 9 81w i g i ow oAt B e
4 =0 v W UE Hwal £ (6 99 04 99 S ae F 4 9 39 79 Bl B W o 4 W 643 T
ZFMT | AT TS 29 9 STAT 399 O § 3F 9 TRE JTaE a6 TEnT e T R Y

[Question ID = 480][Question Description = 130_00_General_25_SEPT22_Q30]
1. Pratyaksa (Perception)
Teged

[Option ID = 1917]

2. Upamana (Comparison)

ITHH

[Option ID = 1918]
3. Unupalabdhi (Non-apprehension)

v

[Option ID = 1919]
4. Arvthapatti (Postulation)



=

[Option ID = 1920]

26) Which one of the following acronyms matches incorretly with their full form?

frmferfian 1§ FH-m v gieEndl s 9% 9 ¥ % 95y e afd J gfed 27

[Question ID = 481][Question Description = 131_00_General_25_SEPT22_Q31]
1. HTTP - Hyper Text Transfer Protocol

e, i

s & A fl - FEm TR T S
[Option ID = 1921]

2. FTP — File Transfer Protocol
ug A 0 - HEE ZEE Uik

[Option ID = 1922]
3. SMTP — Simple Mail Transfer Protocol

g g A i - foore U s i
[Option ID = 1923]

4. ISP — Internet Service Pratocol
Ars vR it - gz Jfdy deTE

[Option ID = 1924]

27 ;
) Given below are two statements :

Statement T . Artificial Intelligence (AI) learns from changing circumstances, whereas

virtual reality 1= an artificially created environment used to give a
feeling of ‘being there’.

Statement II :  @QR. a type of more sophisticated barcode which uses a matrix of dark
squares on a hight background, stands for Quick Reaction.

In the Light of the above statements, choose the most appropriate answer from the options

given helow :

4= =1 F99 T9u W E

FuA 1 ; "-i-Tﬁﬂrr_ I9 qig (U 1) wEeAat ?‘;?; TiiEagT & Higdl 2, FEEE ATEE aeaasal :g_-;i-'.m =0 g Hf—-fFr

woA I: . @7 4 wP@ =i afdbear 12, o & wifas afvesd ss =1 o 9@ B, S aE
TR W T T (ST A F U S # O F 2

I FAA F A §, A @ T S § H 5ed 390 3 = i,

[Question ID = 482][Question Description = 132_00_General_25_SEPT22_Q32]

- Both Statement I and Statement II are correct



&ed I 317 wga 11 eF] 5 2

[Option ID = 1925]
2. Both Statement I and Statement IT are incorrect

#9441 31 Fv[ IS #ed 2

[Option ID = 1926]

3. Btatement I is correct but Statement I is incorrect

& [ HeY 2, elfae a9 [ 316 2

[Option ID = 1927]
4. Statement I 1s incorrect but Statement I 1s correct

Fe 1 55 2, oiidd ®ed 1A ¢
[Option ID = 1928]
28)  Which of the developments A-E given below have arizen because of the Internet?
(A) Web logs
(B) Databases
(Cy  Wikis

{Dy DTP
(E) Social networking sites

Choose the correct answer from the options given below :

4= fso e A" E &% % F5 U Toe seaTE i 9ie B 7

(A) FmeE

(B) =EEEA
() T
D) =

(B)  Ho 23 J5ed

5 fau o o § 1 oF = w9 i

[Question ID = 483][Question Description = 133_00_General_25_SEPT22_Q33]
1. (A), (B) and (C) only

Fae (A), (B) 311 (C)
[Option ID = 1929]
2. (B) and (D) only
e (B) T (D)

[Option ID = 1930]
3. (A). (€) and (E) only



F4 (A), (C) 31 (E)
[Option ID = 1931]

4. (C)and (E) only
Fdd (C) 317 (E)

[Option ID = 1932]

29) Which of the following statements are correct?

(A) TP addresses are used to identify computers on the Internet.

(B) Internet and WWW are two separate but related terms : Internet is a service on the
WWW while WWW 1s the network infrastructure providing such service.

() Large files such as videos which cannot be sent by e-mail as attachments, can be sent
to another computer via FTP.

Choose the correct answer from the options given below :
feifore sA-4 aee w14 2 7

(A) 38 91 vgH v g deee] & TEET 9 2 W e a2
(B)  3Uaide siN g6y Say weey ©l Uue olfd Heldd ud # ; eae gey gey gey W €l W arefl
ue Hl 2 94 (o 267y g5y gey =0 uen i W) weE i % ferm Jead sradra 2

(C)  Tatzars S 921 wisel o 1 d@e@®] & 59 3 3-He1 201 WG9 =251 =1 91 @hel 7, 98 OF 21 1 %
IS H 3 A T AT W Al a)

Hre feu o fawedl 0 8 | 3 & F94 il

[Question ID = 484][Question Description = 134_00_General_25_SEPT22_Q34]
- (A) and (B) only

Fde (A) 31 (B)

[Option ID = 1933]
2. (A) and (C) only

Fad (A) #HF (C)
[Option ID = 1934]
3. (B) and (C) only
#9e (B) #1 (C)
[Option ID = 1935]
4 (A), (B). (O)
(A). (B) 311 (C)

[Option ID = 1936]



30)

T=1-1 % WY F1 FE-11 faem Fiaw
T
(Terer o)
(A) =m Frs T (D
(B) fa9 = (I
(C) Ta =1 H# ww
Dy = am

31 Taw 70 Toereal | H TE 390 1 999 i

Match List I with Last IT ;

(A)
(B)
(©)
(D)

Last I

{(Input Method)
Bar Code Reader
Chip Reader
MICR

OCR

Last IT

(Use)
(I)  To input text from a printed document
(IT) To input data from a bank cheque
(ITII) To nput data from a bank card

(IV) To input data about a product at a
POS (Point of Sale)

Choose the correct answer from the options given below :

et wiz womm @ = e (7)) =9 =
% =% | Awel (ZE) Few e g

(IIT) Tt 5 *1E ¥ = Haw (792) = 2

(IV) i =71 8 (F@a o) T 370e % 71§ 3@ 99 (5992) 9 29

[Question ID = 485][Question Description = 135_00_General_25_SEPT22_Q35]

1. (A)-(D. (B)-(IID). (C)-(ID). (D)-(IV)

[Option ID = 1937]

2. (AYATID). (B)-(IT), (C)-(IV). (D)-(D)

[Option ID = 1938]

3. (A)(IV). (B)-(IIL). (C)-(ID). (D)-(T)

[Option ID = 1939]

4. (A)-(IV), (B)-(ID), (C)-(I1D), (D)~(I)

[Option ID = 1940]

3 Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A) :

Reason (R) :

plants,

increases the =oil acidity.

High concentration of Nitric Oxide (NO) in soils makes it inhabitable to

NO combines with soll water and forms nitrous and nitric acid which

In the light of the above statements. choose the correct answer from the options given below :



4= @ e fqu 2wk wfusd (Assertion (A)) & 9 4 feffigd 2 A 290 394 %M (Reason

(R)) & #9 8 ;
At (A) : wgl | Arefed ameaEe (NO) ) 3= =g 39 wedl + feo anmdmg & 2
FHU (R) : st AeEEE (NO) gerae § iy & sl 2 # 4152a aen Jsfes ufde a4 7

A1 ger 1 e 4 gig w5 2

I hE & e O, Fe fou o fasen 4 4 gd 3 & s it

[Question ID = 486][Question Description = 136_00_General_25_SEPT22_Q36]
1. Beoth (A) and (R) are true and (R) is the correct explanation of (A)

(A) 31 (R) €H1 471 & 31 (R), (A) I 4 =amen 2

[Option ID = 1941]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 31 (R) SHET ¥ &, w6 (R), (A) 1 d&l =wen 9241 2

[Option ID = 1942]

3. (A) iz true but (R) is false

(A) 7= 2, wifea (R) 319 2

[Option ID = 1943]
4. (A) is false but (R) 1s true

(A) 3@ 2, @A (R) 57 2
[Option ID = 1944]
32)

Given below are two statements : One 12 labelled as Assertion (A) and the other 1= labelled as
Beason (R).

Asszertion (A): Oxvgen-demanding wastes are substances that Oxydize in the receiving

body of water.

Reason (R) : As bacteria decomposes these wastes. they release Oxygen in the water.

In the light of the above statements, choose the correct answer from the options given below :



412 @ we fau o F ;v SfUEE (Assertion (A)) % ®4 i feifiga 2 41 gA0 3% M (Reason

(R)) % =9 H ;

TGS (A) : T -AT=F AT9e 7 =g 7 2 OA A9 ME wH 9 A9 9wE o
ST FE 3

FAV (R) : 4 Aadiied Mgl w1 svafed i 2, @ 9 T 0 i sed 2

IYIF FAA ok e o, A fen o fased 8 8 @A I @ 994 it
[Question ID = 487][Question Description = 137_00_General_25_SEPT22_Q37]

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 31 (R) 21 5w 2 3 (R), (A) i 7 ey 2

[Option ID = 1945]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 3117 (R) 1 &7 8, #fda (R), (A) &I 9#) sgrEn J8 &

[Option ID = 1946]
3. (A} is true but (R) is false

(A) w71 2, wifd (R) #9142

[Option ID = 1947]
4. (A) 1= false but (R) 1s true

(A) 37 7, oifa (R) & 7

[Option ID = 1948]

33) Given below are two statements :

Statement I :  Most of the emerging contaminants of water are Endoerine Disrupting
Chemiecals (EDCs).
Statement IT :  Flame retardant additive. found in environment throughout the globe,

are considered to be EDCs.

In the light of the above statements, choose the correct answer from the options given below :

e 51w fem o &

FU4 1: T b AU 3T dg9h 3id:EE FEgeEd @A (EDCs) 7 2

#ed I0:  =Te Heh 90T 9% v § Jremen 4 98 91 8, 91 EDCs 94 |1 2l

I F2H & W 4, 4 feu u fawed 0 9 ged 3ugw 3w & a5 i



[Question ID = 488][Question Description = 138_00_General_25_SEPT22_Q38]
1. Both Statement I and Statement IT are true
e T 300 I a1 981 2

[Option ID = 1949]
2. Both Statement I and Statement IT are false

e T 31 I 4 e 2

[Option ID = 1950]
3. Statement I is true but Statement IT is false

Fea T HE 2, dfRT S I 7ed 2

[Option ID = 1951]
4. Statement I is false but Statement IT is true

F49 1 TeF 2, wifd &0 Mo 2

[Option ID = 1952]

34) Given below are two statements :
Statement I :  Halocarbons contribute significantly to global warming.
Statement TT :  Halocarbons also catalytically destrov stratospheric Ozone.

In the light of the above statements. choose the correct answer from the options given below :

=2 3w feoom #

FeH [:  FAMFES d5aF amE § M8 =9 4 IFEE o 2

FER I :  EcrEEH HoaraEefi- A & oft sard =y | 98 %55 7

FTTeh U el B, J4 7o faeedi 8 8w 3 e 9959 difau

[Question ID = 489][Question Description = 139_00_General_25_SEPT22_Q39]
1. Both Statement I and Statement II are true

HUg I3 & 9 2

[Option ID = 1953]
2. Both Statement I and Statement II are false

e 130 I EH 3 8
[Option ID = 1954]
3. Btatement I is true but Statement IT is falze

FeE 18 2, dfha e I 399 2

[Option ID = 1955]



4. Statement I is false but Statement II is true

FeF 1 375 2, oifdd FeE 5 2

[Option ID = 1956]

35) Given below are two atatements :

Statement I ! In a breeder reactor the amount of fissile material consumed 1s more

than the amount of fissile material produced.

Statement IT : In India Kalpakkam (Chennai) Nuclear Power Plant is an example of a
breeder reactor.
In the light of the above statements, chooze the correct answer from the options given below :
i<l €1 = fon o 2

FE T: o o 8 vy fass damefl & e eere fagss anedt &6 aen | st @ 2

FE I : 97 0 FaTsd (998) THW S 999 TAE 10e 6 S5 A

YU HYA o H@s 4, G4 fou o fawedl O 8 A98 IR I & 9 fifau

[Question ID = 490][Question Description = 140_00_General_25_SEPT22_Q40]
1. Both Statement I and Statement II are true

#2130 e w8 2

[Option ID = 1957]
2. Both Statement I and Statement I1 are false

FYq 1 57 [T 21 e #
[Option ID = 1958]

3. Statement I is true but Statement II is false
Fy TUd 2, @ 93 I17Tem 2

[Option ID = 1959]
4. Btatement Iis false but Statement IT is true

*A [T 8, dfe 99 110 2

[Option ID = 1960]

36) 1In the context of vocational education, competency level 8 as per NSQF. is equivalent to :

FEEEF a F H5ed ¥ T U9 T UE F 9990 59ama T (FefEa fEe) 8 Fefaias § 3 e
AT A 7

i

[Question ID = 491][Question Description = 141_00_General_25_SEPT22_Q41]
1. Doctrate Degree



[Option ID = 1961]
Undergraduate Degree

e
[Option ID = 1962]
- Diploma

-

[Option ID = 1963]
4. Master Degree

e fefy

[Option ID = 1964]

37) The focus areas of New Education Policy are:

(A) Establishment of community colleges

(B) Setting up of skill missions in rural India

(@ Institutional re-structuring in the educational sector
(D)  Imparting of holistic education

(E) Transforming the regulatory system of higher education

Choose the correct answer from the options given below :

72 forem ifa & wya & A

(A)  AMefas gafaRTedl $ e

(B)  umdi qrd § e sl o e
()  foten = & U wegEl ) g TE
(D)  wu e ygH &

(E) == fimn F ffmms 93 8 ofews

H= feu T el § | wA I F1 T Fifa

[Question ID = 492][Question Description = 142_00_General_25_SEPT22_Q42]
1. (A). (B). (C) only

e (A). (B), (C)

[Option ID = 1965]
2. (B), (C), (D) only

44 (B). (C). (D)

[Option ID = 1966]
3. (A), (D). (E) only



F9e (A), (D). (B)

[Option ID = 1967]
4. (C). (D). (E) only

Fad (0), (D). (B)

[Option ID = 1968]

38)  Match List I with List IL

ListI List IT
(Committee) (Chairman)

(A) Committee on Corporate Participation (). Swaminathan
in Higher Education

(B) Calcutta University Commission (T[) Mhchael Sadler

(C) Committee on funding Central (IIT) N.R. Narayanamurthy
Universities

(D)  Committee on Technical Education (IV) Justice K. Punnayya

Choose the correct answer from the options given below :

.1 % W & HHEI-10 e difm

g1 i 11
(i) (w7
(A) F= foan 8 wrdie 1 wewiia Hadi (D sanfies
Afafd
(B) e fava faemer wEm (ID) HEwHe HzeR
(C) 4 fevafaamer o foqumm gaei wfafa (T . 3w FEmEumgH
(D) earehl foren d=edi wfifa (TV) =mafd & gren

419 feu o fomredl § 8 |98 3R 95 999 difae

[Question ID = 493][Question Description = 143_00_General_25_SEPT22_Q43]
I (A)-ID). (B)-(IID). (C)-IV), (D)-(T)

[Option ID = 1969]
2 (AT, (B)-(IV). (C)-@), (D)-(IT)

[Option ID = 1970]
3. (A)-(ID). (B)-(I). (C)-(IV). (D)-(I)

[Option ID = 1971]
4 (A)-D, (B)-IV), (O)-1I), (D)-(IT)

[Option ID = 1972]

39)  Who among the following was the first thinker in India to write on Spherical Trigonometry?

faerifera O | fam wad wwdTe a3 e Benrfafa’ & wEy O feman wn e

[Question ID = 494][Question Description = 144_00_General_25_SEPT22_Q44]
1. Bhaskaracharya



r

HIERTEE

[Option ID = 1973]
2. Arvabhatta

AR
[Option ID = 1974]
3. Akshapada

LT

[Option ID = 1975]
4. Kanada

=

[Option ID = 1976]

40) Which of the following umiversities in ancient India attained ecelebrity as the seat of both

Brahmanical and Buddhist learning during the time of Siddha Nagarjuna?
freifera o & fam gl apdia frafaarey 3 fag qemEE & dgg 4 arm @i g gl Gl & s
e % =4 § wfifz s B

[Question ID = 495][Question Description = 145_00_General_25_SEPT22_Q45]
1. Nalanda

AR
[Option ID = 1977]
2. Takshashila

AeqfaTen

[Option ID = 1978]
3. Dharmaganja

T

[Option ID = 1979]
4. Sridhanya Katak

ofia=1 &2

[Option ID = 1980]

Topic:- 12_GP_SH2_Set1_C



1)

Bead the passage and answer below questions.

The formation of the Indian state runs in a parallel narrative with the formation of its elite.
Indian independence marked the powerful role of the elite in establishing an agenda of
modernization driven by an instrumentalist notion of the state. The elite were constituted in
the emercing national space of an independent India as the dmvers of social change
processes, bringing Indian society into modernisation. The elite not only comprised of
political power brokers and private interests. but also of a middle class educated in English
and employed in the private. state. and civil society sectors. The emergent professional
middle class as a subject of the modern state help considerable power. with its access to
primarily English-language education and opportunities for emplovment in both the private
and public sectors. The state on one hand. developed an extended bureaucracy for running
the state apparatus and on the other hand. gradually cultivated the market. creating
employment opportunities for the middle classes and ensuring the participation of the middle
classes 1n India’s mixed economy. The participation of the middle classes 1n the Indian
economy and in the cultivation of its imagination is a salient feature that plays out in the
discursive arena. The success of the Indian state in this sense was intrinsically tied to the
recrafting of an imagination of an independent India that. on one hand. putforth a narrative
of the nation state and on the other hand. mobilised the market as a site for participation.

Frefefaa mem w6 afze sfe 46 850 a5 % g9l % 33 dfm)

uIEE 5% F T 1 FEE o S o F FEm F FEE S 99E] 5| YieE Teear g
TSE i SUHIVETE] HAGEOT H A SHFEE OSSN A H A A Al e
b i B e e e e o e 0l B 12 o e L i U e i o = 2 1 i
qfiaa 1 Wi F AR FA AT & =9 0 2| S0 FH F A TR A 5 aee dw 7
oA wras = AW e 4, sfew s e 1 e o 5, aveE sin e e e E
TR T 9] IEA 9| A TeE w6 WA ® 9§ 39 e 99 W F UM SoAngs a4 Hn
AR AU W S R ST FE S0 A aH G 0 T F AE 59 @ F 90 594 41 76
farm vemm 1 F fou 7w F v giEe ww o din gve i fole ademen § mem 3 f omaie
gHT=Ea F5| qWAE AYETE AW SHE FE F AR FA A BER PR dEEE 0 UH 0EE
TooTaAT 3 A Siig® a9 Aeeays 2| 36 WA | 9EAE TS F @R SheE 59 4 T 9va H wee
70 =0 § 931 2 7 vF aw 7gE s F A F o e, @ o3En an mEeia wHe R EUn
ST AR

What phenomenon marked the Indian independence?

qEAT ¥aFd 8w H e g o 7

[Question ID = 496][Question Description = 146_00_General_25_SEPT22_Q46]

1.

2.

3.

Notion of India

WA =Rl 3rEET

[Option ID = 1981]

Concept of states

s e S e o |

[Option ID = 1982]

Role of power elites



[Option ID = 1983]

4. Parallel narratives of modernisation

2)

AR F A FEE]

[Option ID = 1984]

Bead the passage and answer below questions.

The formation of the Indian state runs in a parallel narrative with the formation of its elite.
Indian independence marked the powerful role of the elite in establishing an agenda of
modernization driven by an instrumentalist notion of the state. The elite were constituted in
the emercing national space of an independent India as the dmvers of social change
processes, bringing Indian society into modernisation. The elite not only comprised of
political power brokers and private interests. but also of a middle class educated in English
and employed in the private. state. and civil society sectors. The emergent professional
middle class as a subject of the modern state help considerable power. with its access to
primarily English-language education and opportunities for emplovment in both the private
and public sectors. The state on one hand. developed an extended bureaucracy for running
the state apparatus and on the other hand. gradually cultivated the market. creating
employment opportunities for the middle classes and ensuring the participation of the middle
classes 1n India’s mixed economy. The participation of the middle classes 1n the Indian
economy and in the cultivation of its imagination is a salient feature that plays out in the
discursive arena. The success of the Indian state in this sense was intrinsically tied to the
recrafting of an imagination of an independent India that. on one hand. putforth a narrative
of the nation state and on the other hand. mobilised the market as a site for participation.

Frefefaa mem w6 afze sfe 46 850 a5 % g9l % 33 dfm)

uIEE 5% F T 1 FEE o S o F FEm F FEE S 99E] 5| YieE Teear g
TE F ITEUETE FEGEI H U TR UES S T H O AEAE 36 ] e
b i B e e e e o e 0l B 12 o e L i U e i o = 2 1 i
qfiaa 1 Wi F AR FA AT & =9 0 2| S0 FH F A TR A 5 aee dw 7
& e 9 AR e 9, wfew Sus areEn | fiEg 9w W, w9 Eae awed & E A
TR T 9] IEA 9| A TeE w6 WA ® 9§ 39 e 99 W F UM SoAngs a4 Hn
g s ur e A S S aEEE e A O TeE F SEE 58 9 & e gay 91 T
farm vemm 1 F fou 7w F v giEe ww o din gve i fole ademen § mem 3 f omaie
gHT=a F5| qWAE AYETE AW SHE FE F A FA A TR PR dEEE 0F UH 0EE
TooTAT 3 A Siig® a9 weeays 2| 39 UEA 8 A TS H AR S 59 F e 9ua i wee
% 9v =9 ¥ 931 2 Fom v wwowdm asw F el w0 wafae e, @ g an meeier w4e F w U g
ST AR A

The elites were expected to

HITHT 1 4 ATTEE 941 -

[Question ID = 497][Question Description = 147_00_General_25_SEPT22_Q47]

1.

2.

Promote private interests

faft i =1 aemEn &

[Option ID = 1985]

Set private agenda



3)

fraft e 2 :

[Option ID = 1986]

Manage the civil society

THTae JEEE e

[Option ID = 1987]

Change the society

qura 8 gftada |

[Option ID = 1988]

Read the passage and answer below gquestions.

The formation of the Indian state runs in a parallel narrative with the formation of itz elite.
Indian independence marked the powerful role of the elite in establishing an agenda of
modernisation driven by an instrumentalist notion of the state. The elite were constituted in
the emerging national space of an independent India as the drivers of social change
processes, bringing Indian society into modernisation. The elite not only comprised of
political power brokers and private interests, but also of a middle elass educated in Enghsh
and employed in the private. state. and civil society seectors. The emergent professional
middle class as a subject of the modern state help considerable power. with its access to
primarily English-language education and oppertunities for employment 1n both the private
and public sectors. The state on one hand. developed an extended bureaucracy for running
the state apparatus and on the other hand. gradually cultivated the market. creating
employment opportunities for the middle classes and ensuring the participation of the middle
classes in India’s mixed economy. The participation of the middle classes in the Indian
economy and in the cultivation of its imagination 1s a salient feature that plays out in the
discursive arena. The success of the Indian state 1n this sense was Intrinsically tied to the
recrafting of an imagination of an independent India that. on one hand. putforth a narrative
of the nation state and on the other hand, mobilised the market as a site for participation.
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The middle class became powerful in India because of
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English — language education

[Option ID = 1989]

Modernization of the country
=9 1 ST

[Option ID = 1990]
Professionalisation of politics

T 1 sagETiE

[Option ID = 1991]
Popularity of power brokering

[Option ID = 1992]

Read the passage and answer below questions.

The formation of the Indian state runs in a parallel narrative with the formation of its elite.
Indian independence marked the powerful role of the elite in establishinz an agenda of
modernisation driven by an instrumentalist notion of the state. The elite were constituted in
the emerging national space of an independent India as the drivers of social change
processes, bringing Indian society into modernisation. The elite not only comprised of
political power brokers and private interests. but also of a middle class educated in English
and employved in the private. state. and civil society seectors. The emersent professional
middle class as a subject of the modern state help considerable power. with its access to
primarily English-language education and opportunities for emplovment in both the private
and public sectors. The state on one hand. developed an extended bureaucracy for running
the state apparatus and on the other hand. gradually cultivated the market. creating
employment opportunities for the middle classes and ensuring the participation of the middle
classes in India’s mixed economy. The participation of the middle classes in the Indian
economy and in the cultivation of its imagination is a salient feature that plays out in the
discursive arena. The success of the Indian state in this sense was intrinsically tied to the
recrafting of an imagination of an independent India that. on one hand. putforth a narrative
of the nation state and on the other hand. mobilised the market as a site for participation.
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The state ensured the middle class participation in
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1. National politics
[Option ID = 1993]
2.

Bureaucratisation of power
A T AR

[Option ID = 1994]

3. India’s mixed economy

ure i fufsm sfsrasn

[Option ID = 1995]

4. Changing the state apparatus

TFAFE T w0

[Option ID = 1996]
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Bead the passage and answer below questions.

The formation of the Indian state runs in a parallel narrative with the formation of its elite.
Indian independence marked the powerful role of the elite in establishing an agenda of
modernization driven by an instrumentalist notion of the state. The elite were constituted in
the emercing national space of an independent India as the dmvers of social change
processes, bringing Indian society into modernisation. The elite not only comprised of
political power brokers and private interests. but also of a middle class educated in English
and employed in the private. state. and civil society sectors. The emergent professional
middle class as a subject of the modern state help considerable power. with its access to
primarily English-language education and opportunities for emplovment in both the private
and public sectors. The state on one hand. developed an extended bureaucracy for running
the state apparatus and on the other hand. gradually cultivated the market. creating
employment opportunities for the middle classes and ensuring the participation of the middle
classes 1n India’s mixed economy. The participation of the middle classes 1n the Indian
economy and in the cultivation of its imagination is a salient feature that plays out in the
discursive arena. The success of the Indian state in this sense was intrinsically tied to the
recrafting of an imagination of an independent India that. on one hand. putforth a narrative
of the nation state and on the other hand. mobilised the market as a site for participation.

Frefefaa mem w6 afze sfe 46 850 a5 % g9l % 33 dfm)

uIEE 5% F T 1 FEE o S o F FEm F FEE S 99E] 5| YieE Teear g
TSE i SUHIVETE] HAGEOT H A SHFEE OSSN A H A A Al e
b i B e e e e o e 0l B 12 o e L i U e i o = 2 1 i
qfiaa 1 Wi F AR FA AT & =9 0 2| S0 FH F A TR A 5 aee dw 7
oA wras = AW e 4, sfew s e 1 e o 5, aveE sin e e e E
TR T 9] IEA 9| A TeE w6 WA ® 9§ 39 e 99 W F UM SoAngs a4 Hn
AR AU W S R ST FE S0 A aH G 0 T F AE 59 @ F 90 594 41 76
farm vemm 1 F fou 7w F v giEe ww o din gve i fole ademen § mem 3 f omaie
gHT=a F5| qWAE AYETE AW SHE FE F A FA A TR PR dEEE 0F UH 0EE
TooTAT 3 A Siig® a9 weeays 2| 39 UEA 8 A TS H AR S 59 F e 9ua i wee
% 70 =9 ¥ 931 2 e vF aw ugE s F A F o e, @ o3En an mEeia e F EUn
ST AR A

The passage describes
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1.

2.

3.

The emergence of national space

MUY 926 &1 29

[Option ID = 1997]

The elitizt imagination of combining nation state with market

i TR AN ATan W A i stfyare anl F e

[Option ID = 1998]

The role of bureaucracy in modernizsing India

A % AT 0 Al 61 i



[Option ID = 1999]
4. SBocial change as a limited process.

ifaa TEF=T F T4 F A A T

[Option ID = 2000]






